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For organizing an effective teaching-learning system which of the following combinations of
statements would reflect the most appropriate concern ? Select from the code to indicate
your answer.

a) Determining what will be the intended learning outcome.

b) Deciding as to what strategy and tactics will be used.

(c) Formally approving the academic qualifications of teachers.
(d) Determining the evaluation tool to be used.

e) Deciding the size of the classroom.

(f)  Assessing the prior academic experience of the learner.
Code :
Options:

91394315601, (), (c), (d) and (e)

91394315602, (a), (b), (d) and (f)

(a), (b), (c) and (d)

91234515603,

91394315604, (©), (d), (e) and (f)
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(a), (b), (c) 3R (d)

912334515603,

(0), (d), (e) SR (f)
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In order to promote direct learning which of the following methods would be best suited ?

Options:
91394315605, 1 €am teaching method

2 B
91394315606, Project method

= - .r‘ - -:I l-.
01594315607 Lecture with examples

91394315605, LIScussion session
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From the following list of learner characteristics identify those which will be helpful in ensuring
effectiveness of teaching. Select your answer from the code.

a) Extent to which learner obeys the school rules

=3

) Learner’s level of motivation
) Feelings of learners towards the social system

d) Learner’s interest in sports and games

T i amal iame
@]

e) Prior experience of the learner

(f)  Interpersonal relations of learners
Code :
Options:

(a), (b) and (c)

91334515609,

(), (d) and (e)

91234515610,

(@), (c) and (e)

91234515611,

(b), (e) and (f)

29153394215681%.
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91394315609, (a), (b) R ()
91394315610, (€), (d) 3R (e)

(a), () 3R ()
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Which devices from the list given below will form part of formative evaluation ? Give your
answer by selecting from the code.

(a) Conducting a quiz session

b)  Giving multiple-choice type questions in post-instructional sessions
c) Giving a mastery test

d) Providing corrective feedback during discussions

e) Encouraging opportunity for metacognitive thinking

(f) Grading students” performance on a five-point scale

Code :
Options:
91394315613, (a), (d) and (e)
91394315614, (), (b) and (c)
s1394315615. (), (€) and (d)
91394315616, (d), (e) and (f)
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(a), (b) 3R (c)

912334515614,

c) AR (d)
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(d), (e) 3R (f)
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Question Number : 5 Question Id : 9139433974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Below are given a number of key behaviours as well as helpful behaviours of effectiveness of
teaching based on research evidence. Identify those which are key behaviours and indicate
your answer by selecting from the code.

Structuring through comments by the teacher in respect of what is to come.
b) Questioning through content and process level questions.
¢) Lesson clarity implying the extent to which presentations are not involved.

(d) Probing which implies statements to encourage students to elaborate.
(e) Engagement rate devoted to learning when students are actually on task.

f) Rate at which students understand and correctly comprehend assignments and
exercises.
Code :
Options:

91394315617, (a), (d) and (e)

(b), (c) and (d)

91334515618,

91394315619, (), (e) and (f)

215394215620, (El), (d) and (f)
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The paradigm of research which focuses on the development of professional expertise of the
researcher-practitioner is called :

Options:

2 . -
91394315601 Lure research

51394315622, Applied research

. .,’ l_| .
91394315623, Action research

a150431ce0, QUalitative research
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Which of the following statements best reflect the meaning and characteristics of research ?
Select from the code to give your answer.

a) Research means challenging the status quo.

b) Research is an endeavour to collect facts and information.

]

) Research is a synthesis of deductive and inductive processes.
d) Research means proving one’s assertions and beliefs.

e) Research is a careful review of reported studies.

— — p— — — —

f)  Research is a critical and passionate search for knowledge.
Code :
Options:

(a), (b) and (c)

91334515625,

(d) and (e)

91394315626, (b)’

(a), (e) and (f)

21594215627,

(a), (c) and (f)

91334515628,
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In the two sets given below, Set - I specifies the methods of research while Set - II describes
the critical feature associated with a method of research. Match the two and select from the
code to indicate your answer.

Set -1 Set - 11
(Research methods) (Critical features associated)
(a) Experimental method (i)  Generalizing to the population from a large sample
(b)  Ex post facto method (i) Establishing the patterns of events which have
happened, through primary and secondary sources
(c)  Historical method (iif) Studying shared behaviour patterns
(d) Ethnographic method (iv) Establishing cause and effect through control

=

Probing into the causal factors from the observed
effects

Code :
(@) (b) (c) (d)

Options:

B91234515629. (IV) (V) (I_I'.) (I_LI'.)



91394315630, 0 @) (i) (i)

o139431563. W) () (i) (V)

91334515632, (I_I'.) (l) (I'.V) (LLI'.)
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Identify those stages/steps of research in which ethical considerations become relevant.
Choose from the code to give your answer.

a) Identifying and defining research question.

b) Postulating relationships among variables to advance a solution.

(

(

(c) Collecting data through use of research tools.

(d) Defining the population and sampling procedure.
(

e) Data analysis and procedure employed.

(f)  Reporting procedure of findings/results.

Options:

(a), (b) and ()

B91334515633.

913345156324, (C)" (E) and (f)

(b), (c) and (d)

912334515635,

(b), (c) and (f)

91334515636,
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(b), (c) SR (f)

912334515636,
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In the two sets given below, Set - I provides the format of presentation and Set - II gives the
distinct features to go with them. Match the two sets and select from the code to indicate
your answer.

Set -1 Set - 11
Format of presentation Distinctive features
P

Thesis/dissertation i)  Based on free-wheeling of ideas

L

Research paper ii) Target oriented group based reflection

.
2

c¢)  Workshop Reflective deliberations based on specific themes
d) Seminar iv) Presentation on a summary of research done

v) Systematic prescribed format
Code :

(@) (b) (o) (d)
Options:
41394315637 (i) (i) (i) (v)
91394315638, (i) (i) (i) (v)

91394315639, (i) (1) (1) (v)

91234515640, (V) (IV) (I_I'.) (I_LI'.)
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Read the following passage carefully and answer the questions from 11 to 15.

One of the findings of the research into successful leadership is the fact that respect is
always a two-way street. No matter how powerful you are, no matter what your experience,
skills, and accomplishments, you will not be respected by others if you consistently treat
them disrespectfully. Friendliness - that is, treating others politely and showing interest in
them - is a way of showing your respect for other people, and in return they respect you. If
as a manager you are respected, your preventive maintenance strategy will be accepted as a
sincere attempt to resolve problems rather than a mean-spirited attempt to cause problems.

As important as friendliness is, | want to make sure you are not mislead into believing
that friendliness will replace or correct poor management. [ have seen effective managers
who didn’t use this friendliness element but could have been more effective if they did use it.
I have seen very friendly managers who were ineffective because they were not doing effective
management things. In other words, managers who intervene effectively in a friendly way
are always more effective than managers who intervene effectively in a non-friendly way.
Maintaining a friendly relationship is another part of maintaining work performance. It also
helps you avoid having people try to hurt you because they don’t like you. It might save your
life.

Sub questions
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What is reported in respect of successful leadership ?
Options:

spec 50 ience o ship.
a150azoeqy  RESPect depends on experience of the leadershiy

01394315645 Respect depends on the skills of the leadership.

Respect depends on the accomplishments of the leader.
91394315643,

L‘ 5 @ ‘I I..| " " L‘ 5 L]
1504315644 RESPECE COmes out of respect
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The passage highlights which of the following feature of a successful leadership ?
Options:

Independence of the leader
91394315645,

Dependence of the leader
91394315646,

1 ' -1 r -
91394315647 Reciprocity of the leader



Least concern for relationship by the leader
91394315648, 4
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The preventive maintenance strategy used by a respected manager will mean to the
subordinates :

Options:

1304315640, L1 attempt to cause problems

Al ¢ ot to res b g
91394315650, An attempt tc resolve prc blems

ot to beco -spiri
a1z0q315esy AN attempt to become mean-spirited

An attempt to become sincere
91394315652,
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According to the passage friendliness in management terms implies :

Options:
Rep[a ::ing poor management
91394315653,

Correcting ineffective management
91394315654,

Making management ineffective
91394315655

Making management effective
91394315656
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The central idea of the passage is :

Options:

Friendliness is necessary for management.
91394315657, J ?
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In communicating in a classroom situation which one of the following approaches will be
considered most appropriate ?

Options:
01394315661 Assertive and conformist
Technical and domineering
91394315662,
b 1 - - k=
] L "
01504315665, Personal and emulative

Empathetic and pragmatic
91394315664,



Question Number : 16 Question Id : 9139433986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

7 T ST

91334515661

_aﬂa“r@iaﬂwﬂ

91334515662

=il T SHEREH

91334515663,

- TEIY(TH T AR

91334515664

Question Number : 17 Question Id : 9139433987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following constitute the paralanguage in communication ? Select from the
code to indicate your answer.

(a) Pitch of the voice (b) Internal noise
(c)  External noise (d) Use of pauses
(e) Rate and volume of speech
Code :
Options:

(a), (b) and (c)

9153394215665,

(b), (c) and (d)

91394315666,
91394315667, (@), () and (e)

(a), (d) and (e)

H91234515665.

Question Number : 17 Question Id : 9139433987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

912334515665,

91334515666,
91334515667,

B91234515668.

Question Number : 18 Question Id : 9139433988 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following would influence the effectiveness of communication in classroom
instruction in a critical way ?

Options:

T e : ﬁ.
— Subject knowledge of the teacher

Academic intelligence and personality characteristics of the teacher
91394315670, J

Teaching style preferred by the teacher while transacting
91394315671, - 2

a150az1sare 1 €aching aids used by the teacher while making presentations

Question Number : 18 Question Id : 9139433988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHEIFTd ST o SHarid FEY 1 guifea 1 Fefafad § 9 6 5eaqul §9 9 guifad &em ?
Options:

91394315669, ieten <1 faua g I



fo1eter 1 AFRHF FEHT IR Al Ga faan

B1334515670,

foreqor =l =1 fopannt=afa & T0a et g/ S <1 8 el

91334515671,

GEATeRT0 o HHY Toe7eh g1 Uge T9reror Uk

B9133451567%.

Question Number : 19 Question Id : 9139433989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A teacher decides to form six groups of students and assigns a sub-theme to each group for
discussion and reporting. Which kind of communication model will best describe his/her
strategy in this regard ?

Options:

' )
1594315675, Linear model

91394315674, Horizontal model

Interactional model
91394315675,

T e l. . " 3 "
91394315676, [ransactional model

Question Number : 19 Question Id : 9139433989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
U ek BE1 % ©: Y2 % Ted F1 fuig s € SR uftEai e ufaeed & fau e 9y %
39-fawg Oiqar €1 9 9 H {59 TR 1 GOm0 Jiqa™ ST WHIT 1 3 &7 9 F97H Fd ¢ 7

Options:

_“{F@muﬁnﬁ

91394315673
91394315674, arferst gfemm

91394315675, AR -TohaTeHe: FiqHT
91394315676, ERIESIGEICR I GLEIE

Question Number : 20 Question Id : 9139433990 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is a powerful determinant for effective assertive communication
whether written or spoken ?

Options:

“You' messages
91394315677,

‘We' messages
91394315678,

“They” messages
91394315679, ’

i Tr
T—
91394315680, [" messages

Question Number : 20 Question Id : 9139433990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Qe SR FEmv, S fafad a1 At w9 § 2, F faw gt e frefated § 9 $E-a g?

Options:

‘ y o
91394315677, SV aal Sl

+
91334515675, B R i

‘g g9 9T

91334515675,

“H' Gewr o

91334515680,

Question Number : 21 Question Id : 9139433991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

< 9000 were divided among a certain number of persons. Had there been 20 more persons,
each would have got X 160 less. The original number of persons was :

Options:
30
91394215681,
91394315682, 45
25
Y1394215683.

91234515654, 59



Question Number : 21 Question Id : 9139433991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Al i HIdIT &1 & &9 T 9000 1 fawfaa fawan w1 afe 20 3R =i 2 91 g st
1 T 160 Y THeld | Al &1 gt T o -
Options:

L ]
30
91394315681,

1234515682,

(R
o

91334515683,

91334515654,

Question Number : 22 Question Id : 9139433992 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The number of marble slabs of size 20 cm X 30 cm required to pave the floor of a square
room of side 3 meters is :

Options:

100
91394315685

1 K
91394315686, 120

91334515687,
H91234515685.

Question Number : 22 Question Id : 9139433992 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3 Hiel 1 Sl dTe] Teh RN &HHL i 9 oM & faIu 20 F2HET x 30 G<HET AR &
T % fohdA Tole STa9gs ¢

Options:

100

9153394215685,

15
H912334515686.



~J

23

H1334Z15687.

23
91394315688

Question Number : 23 Question Id : 9139433993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the sequence of numbers 2, 8, 26, 62, 122, 212, x, ...... , the term x is :

Options:

302
91394315689

r_..,]
2J
oo

91234515630,

2,
913345156591, 248

H1334515652.

Question Number : 23 Question Id : 9139433993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
& %9 2,8, 26, 62,122,212, x, ..., HW@x¥:
Options:

91334515659,
291234515630,
913345156391,
91394315692,

Question Number : 24 Question Id : 9139433994 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In a certain code, LIFE is written as KMHJEGDF. How is WORD written in that code ?
Options:

VXNPQSEC

215942156595,



XVPNSQEC

913345156394,

VXNPQSCE

91334515635,

1594315896, * ¥ L NoQCE

Question Number : 24 Question Id : 9139433994 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ffqqd F2 § LIFE ®1 KMHJEGDF % 9 H foran 91 81 39 %2 § WORD &1 %4 foran siman g2
Options:

91394315603, Y XNPQSEC

a1394315604. XVENSQEC

a1394315695, ¥ XINPQSCE

91394315696, XVPNSQCE

Question Number : 25 Question Id : 9139433995 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In conveying the same meanings, which of the following is incongruous ?
Options:

91394315607, LXCItE

: ) ‘l,
2915342156395, Flourish

Prosper
91394315699,

Thrive
91394215700,

Question Number : 25 Question Id : 9139433995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A At 1 Tt w0 H efafea ¥ 9 $E-91 o5 22

Options:



3L (TFREL)
91394315697,

S

H913345156595.

qrs
dasf

91334515699,

912334515700,

Question Number : 26 Question Id : 9139433996 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In terms of the relationship indicated below, which word will correctly pair to replace the
question mark (?) ?
? :play::sing :song
Options:

Act
91394315701,

Scene
91394215702,

91394315703, [heatre

a1334315704 leld

Question Number : 26 Question Id : 9139433996 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

il T T S o FATER @Tefl T W hH-91 Y58 39Fad 2 7
2 :REE: T T

Options:

AT
91394215701,
91394215702,

formex

2153942157035,



oS

912334515704,

Question Number : 27 Question Id : 9139433997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises with four conclusions drawn from them (taken singly or
together). Which conclusions are validly drawn ? Select the correct answer from the code
given below.

Premises (i)  All politicians are honest persons.
(i)  All honest persons are fair.
Conclusions : (a) Some honest persons are politicians.
(b)  No honest person is politician.
(c) Some fair persons are politicians.
(d) All fair persons are politicians.
Code :
Options:
o1594315705 (@), (D) and (d) only
1304315706 (D) and (d) only
o139431570, (@) and (c) only
s1304z1570z, () and (c) only

Question Number : 27 Question Id : 9139433997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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% (a), (b) 3R (d)

91334515705,

faF (b) 3R (d)

215394215706,

fadh (a) 3R (o)

91334515707,

fah (b) &R (o)

91234515708,

Question Number : 28 Question Id : 9139433998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below is a statement followed by three assumptions made from it. Which assumptions
are implicit in the context of the given statement ? Select the correct answer from the code
given below.

Statement s ‘Smoking is injurious to health’. - A warning printed on the cigarette
packets.
Assumptions (a) People read printed matter on a cigarette packet.

(b) People make careful note of a warning,.

(c) Non-smoking promotes health.

Code :
Options:
91394315709, Only (a)
91394315710, Only (a) and (b)
91394315711 Only (b)
91394315712, Only (b) and (c)

Question Number : 28 Question Id : 9139433998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

fa® (a)

91234515703,

faF (a) 3T (b)

B91334515710.

fad (b)

291594215711,

o (b) #AR (c)

9133431571%.

Question Number : 29 Question Id : 9139433999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mr. Rajesh, his sister, his son, and his daughter are fond of golf and often play together. The
following statements are true for all the four :

(a) The best player’s twin and worst player are of the opposite sex.
(b)  The best player and the worst player are of the same age.
Assuming that both twins are members of the group of four, who is the best player ?

Options:

son of Mr. Rajes
91594315713 Son of Mr Rd}&%h

ont =1
1304315714 Laughter of Mr. Rajesh

91394315715, Sister of Mr. Rajesh

91394315716, Mr. Rajesh

Question Number : 29 Question Id : 9139433999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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 ATmEwT

91234515713,

ZIRENIET Rl

91334515714,

ZIRIEMICIICES |

2915334215715,

ZIRAEN

291594215716,

Question Number : 30 Question Id : 9139434000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Five persons Amit, Anil, Ajay, Atul and Anand live in a five storey building on different
floors. Amit lives above Ajay but below Anand. Atul lives above Ajay but below Amit. Anil
lives below Anand but above Atul. In which floor does Anil live ?

Options:

1504315717 econd floor

Thi M0
91394315718, ['hird floor

Fourth floor
913943215719,

Either third floor or fourth floor
91394315720,

Question Number : 30 Question Id : 9139434000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

UGN

91334515717,



IR UG S|

912334515718,

EIPIK|

912345157149,
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91334515720,

Sub-Section Number: 4
Sub-Section Id: 913943197
Question Shuffling Allowed : Yes

Question Id : 9139434001 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

Consider the following two tables (I and II) in which table I shows the percentage of
students who joined and successfully completed the Ph.D. programme from the Universities
A to G and table II shows the number of foreign Ph.D. students enrolled in the University C.
These percentages have been rounded to the nearest whole number. There are a total of 855
Ph.D. students in the University C and a total of 5700 students successfully completed the
Ph.D. programme from all the seven Universities together.

In accordance with the tables | and II, answer the questions that follow (Questions 31 - 35) :

I : Students University - wise I : Foreign Ph.D. Students in
University C
Nameof [% of students |% of students who Foreign Number of Ph.D.
University |who joined successfully completed Ph.D.| [Students students in
Fh.lD: (out of 5700) University C

A 22 18 American 65

B 15 17 Australian 46

C 10 13 African 25

D 17 16 European 35

E 08 09

F 12 15

G 16 12

Sub questions

Question Number : 31 Question Id : 9139434002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What percentage of students in University C is that of foreign students ?

Options:



912334515721,

pliIL
91394315722, 20%

250
91394315?23."5'ﬂ

30 %
91394315724

Question Number : 32 Question Id : 9139434003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In case, there are 21 African students in University E, then approximately, what is their
percentage in that University ?
Options:
4%
91394315725,

2%
91394315726,

'_[E"'r
91394315727, '

20

91394315728 - ¢

Question Number : 33 Question Id : 9139434004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which University has the highest percentage of students who successfully completed the
Ph.D. programme out of the students who joined that University ?
Options:
.
Q1294215729

291234515730,

91334515721,

H91334515732. b

Question Number : 34 Question Id : 9139434005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the ratio of students who successfully completed the Ph.D. programme to the students
who joined in the University G ?

Options:

3:4
91394215733,

| B
D1394215734,

611
91394215735,
91394215736, b

Question Number : 35 Question Id : 9139434006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of students who completed the Ph.D. programme from Universities A and D
together exceeds the number of students who joined the Universities C and E together, by :

Options:

3(
91394315737,

278
291394215738,

399
91394315739,

369
2912394215740,

Question Id : 9139434001 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension
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E 08 09
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G 16 12

Sub questions

Question Number : 31 Question Id : 9139434002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
favafarierd € (C) | facefl SE 1 ufded =1 2?2
Options:

15 9fdqerd

2915334215721,

20 gfderd

9153394215722,

25 giderd

H1334515723.

30 gfd9rd

9153394215724



Question Number : 32 Question Id : 9139434003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ffe favafaane™ £ (B) # 21 sTwis! 96 € d1 39 favafaened H 371 gfasra &1 2 ?

Options:

4 gfa9rd

91334515725,

2 gfa9rd

91334515726,

5 Hiderd

91334515727,

3 Hfd9rd

91334515728,

Question Number : 33 Question Id : 9139434004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o Tereafoamerd 4 398 9991 oF 91 B0 § 9 4iu=. 21, FEEH 6l Ahediges IO i 9l B
%1 I=4qH Ufavd & ?

Options:

L
91394215729,

B
91394215730,

I.‘
91394215731,

E
91394215732,

Question Number : 34 Question Id : 9139434005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
forvafemmer St (G) # div=. 1. S S Ihadges 0 FH 9l BE1 6 37 BE1 Sl I |
a1 &, forei 39 favafamamera ¥ yaw famn ar?

Options:
S ot
291394215733,
e
91394215734,
G 11

9153394215755,



Saly
91394315736,

Question Number : 35 Question Id : 9139434006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fovafaae™d € (A) 3R 1 (D) § Fa oot W=l SR & 90 & 9 861 & GE&A
forgafarame™ i (C) 3R 3 (E) § Fa1 faams g3 o a1l SEi &l §e& 9 ol s1fus § 72

Options:

L | /
215394215737, 304
7,
91394315738, 278
L ]
215394215739, 399
L |
-
91334215740, 69
Sub-Section Number: 5
Sub-Section 1d: 913943198
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9139434007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mohan tells his friends, Sohan (sohan@gmail.com), Rohan (rohan@yahoo.com) and John
(john@gmail.com), date of his birthday party through an email as shown below :

To :  sohan@gmail.com
(¢ . rohan@yahoo.com
Bec . john@gmail.com
Subject . My Birthday Party ison 15/01/2019
Hello all,
Call me if you can come.
Mohan

Which of the following cannot be derived from this email ?

Options:

01304315741 O0han knows that the birthday party will be held on 15/01/2019.

01294315745 Sohan knows that Rohan receives the email.



) nows that Jo ceives
1504315745 N han knows that John receives the email

John knows that both Sohan and Rohan receive the email.
91394315744,

Question Number : 36 Question Id : 9139434007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Hred 3794 ﬁ:ﬁﬁ, qred (sohan@gmail.com), e (rohan@yahoo.com) 3R S (john@gmail.com)
&1 FETTER T & Wegq | 3199 SAfeT 1 e & fafy o 9R H S ©

To ; sollan@gmail.com

e . rohan@yahoo.com

Bce . john@gmail.com
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e
0 A i 19 H F 3 forfa & 82

Options:

e &1 a1 & T s=afeq =1 aet 15/01/2019 &1 €1

91334515741

| Higd =1 Ta1 € T Ued =i T 9 e |

91384515742

| e 1 Ual & T S =1 30 9 2 |

91334515743

| S 1 91 © T dred TR e SHi 1 38 U 2 |

91334515744

Question Number : 37 Question Id : 9139434008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



There are two sets given below. Set - I specifies the IT related acronyms, while Set - II
indicates their functions. Match the two and give your answer by selecting the appropriate
code.

Set - 1 Set - 11
(Acronyms) (Functions)
(a) CPU (i)  Type of technology used on a flat-screen monitor.
(b) RAM (i) Controls all the functions performed by the computer’s other
components.
(c) ROM (iif) Temporary storage, also known as primary storage.
(d) LCD (iv) Permanent storage that is not erased when the computer’s
power is turned off.
Code :
(@ ) © (d
Options:

91334515745, (I_I'.) (IV) (LLI'.) (l)
91334515746, (1) (IV) (LLI'.) (I_I'.)
2915334215747, (l) (I'.LI'.) (IV) (I.I'.)

91334515748, [:I_I'.) (I'.I_I'.) (IV) (1)
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Correct Marks: 2 WrongMarks: 0
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(9Teg Hew) ( fomamereTa )
(a) HLWLF (i) Uk F9S BhiA dlel " T Y dahrieh |
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() SRSLTA (iii) SRR sEgrv, 99 Wgfhe Wervr & &9 § off S S ¢ |
(d) TAHLE (iv) Il SR S gl A fad YaE T & o1 |l 7Tl e |
e
@ (b) () (d)
Options:

291594215745, (LI'.) (IV) (LLI'.) (l)



91334515746, (l) (IV) (LLI'.) (I_I'.)

H91334515747. (1) (LLI'.) (IV) (LI'.}

912345157458, (LI'.) (LLI'.) (IV) (1)
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The gap between those individuals in a society who are computer literate and have access to
information resources like the Internet and those who do not, is referred to as the
Options:
91394315749 ICT divide

107 LA
91394315750. Digital divide

) 10N O T
915394315751 Information overload

e .
91394315755 lerabyte divide
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Options:

91394315749 Wg@ff TEH'IEE

i i

fefsied fease

91334515750,
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9139431575, AW SElcdls

91334515752, E m
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Options:
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391394315755
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In computer terminology, which of the following best describes a device driver ?

Options:

Software that allows the user to control the operating system.
91394315753, "

/ at allows ser to contro . ing system.
150431575, Llardware that allows the user to control the operating system

softw : WS 1 action betw seripher: ices : he operating sys .
01394315755, Software that allows interaction between peripheral devices and the operating system

Hardware that allows interaction between peripheral devices and the operating system.
91394315756 4
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Using a word processing software, an image on page two of a document is to be repeated on
o O O
page four of the same document. Which of the following would enable this to happen ?

Options:

Cut and Paste
91394315757,

Copy and Paste
91394315758, ’

Find and Replace
91394315759,

Format and Replace
91394315760,
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Options:

91334515757, | |\3:‘|§R
91334515758, : S:ﬁT

H1334515759

_wﬁzﬁmgﬁ@nﬁﬁm

91334515760
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Which of the following statements are indicative of the vision of Blue-Revolution ? For your
answer select from the code :

(a) Promoting development of Botanical Gardens.

b) Creating an enabling environment for the full potential of fisheries in the country.

P

) Improving the income status of fish farmers keeping in view the sustainability concerns.

(
(
(d) Encouraging scientific research in forestry to increase the vegetative cover.
(e) Promoting integrated development of fisheries of the country.

(f)  Undertaking research in new areas like marine finfish.

Code :

Options:

(b), (c) and (e)

H913345157E1.

(a), (d) and (f)

91334515762,

(b), (c) and (a)

91334515763,

(c), (d) and (e)

912334515764,
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91334515764, (
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Below are given two sets. Set - I mentions the types of pollution, while Set - II indicates their
source. Match the two sets and select your answer from the code.

Set-1 Set - 11
(Pollution Type) (Source)
(a) Air (i) Point and non-point sources such as discharges from
industries etc.
(b) Land (ii) Industries, thermal power plants and motor vehicles
emissions.
(c) Water (iii) Roadway, aircraft, industrial as well as high intensity
sonar.
(d) Noise (iv) Over use of chemical fertilizers.
Code :
(@) (b) (o) (d)
Options:

91394315765, 1) () (i) (i)

H912334515766. (I_I'.) (IV) (l) (I_LI'.)



91394315767, (i) () (i) (iv)

91334515768, (IV) (I'.I_I'.) (I_I'.) (1)
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(@) (b) () (d)
Options:

91394315765. (i) (@) () (i)
o1394315786, (1) (V) (i) (i)
91394315767, (i) (@ (@@ (i)

21594215768, (IV) (I_LI'.) (LI'.) (l)
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Which of the following provisions are directly covered in the Environment Protection Act,
1986 ?

Options:
= CL 3 . 1 il o= - S ey .
91294315769, Protection and conservation of forests and matters connected therewith
> - . , :
: ol of w ) )
1504315770 L rEVENtion and control of water pollution

Protection and safety of wild animals, birds and plants and for matters connected
91394315771 therewith



Protection and improvement of quality of environment and preventing, controlling

- - —)4 % 4 = - -! 3
o1394315770 and abating environmental pollution
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Correct Marks: 2 Wrong Marks: O

In the context of a School / University which of the following aspects of environment determine
the academic ethos ?

Options:

Attractive physical campus
91394315773, ?

Latest lab equipments
91394315774,

Patterns of human relations as evident in workplace
91394315775

91394315776, Well-equipped lecture halls
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In the two sets given below, Set - I specifies H,S level in a water sample, while Set - II
provides observations. Match the two sets and indicate your answer from the code given
below :

Set -1 Set- 11
(HL,S level in Water Sample) (Observation)
No H,S is produced

) i)  Dark black - high water pollution
(b) H,Sis produced and is small in quantity

(i) No colour - clean water
(c) H,Sis produced and is medium in quantity (iii) Light black - low water pollution

(d) H,Sis produced and is high in quantity iv) Black - moderate water pollution

(@) (b) (¢) (d)

9:;::315???. (1) (ll) (LLI'.) (IV)
912334515778, [:ILI'.) (IV) (l) (LI'.)

91334515779, (IV) (l) (LI'.) (I_LI'.)

(i) () (v) ()

91334515780,
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(@) (b) (c) (d)
Options:
21394215777, (1) (I_l) (LL[) (IV)

912334515778, (LI'.I'.) (IV) (1) (I_I'.)

91334515773,
B91334515780.

Question Number : 46 Question Id : 9139434017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
Which organisation in India overseas the functioning and quality aspect of teacher education
programmes ?

Options:
Association of Indian Universities (AlU)
91394315781,
University Grants Commission (UGC)
91394315782. :
atio “ouncil of Educationg Training SBERT
o1504515755 LNational Council of Educational Research and Training (NCERT)

National Council for Teacher Education (NCTE)
91394315784,
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Which of the following bodies/units in a University has a statutory function to perform ?
Options:

91394315735, Board of Studies

91594315736, Fimmance Committee

Board of Management
91394315787,

Research Degree Committee
91394315788,
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Options:

g3 giafd

91334515785,

ot |fafd

91334515756,

2915334215787, A9 Sffs
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91334515758,
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Which of the following activity /programme in a University aims at Value Education in a
holistic frame ?

Options:

National Cadet Corps (NCC)
91394315789,

£ s Tusical Concerts
1594315790, Fine Arts and Musical Concerts

Inter-University Competitions
91394315791 g

Yoga Education and Wellness Centres
91394315792,
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Question Number : 49 Question Id : 9139434020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
For promoting Human Values through programmes of the University System in India, which
of the following activities have great potential ?

Options:

91394315793, Lectures by experts



Association of NGOs
91394315794,

Mentoring by senior faculty members
91394315795, ’ ’

Inviting dignitaries/heads from national level organisations
91394315796
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91594315796,
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Correct Marks: 2 WrongMarks: 0
Which of the following statements correctly describe, the functions/status of the National
Institute of Educational Planning and Administration a deemed to be University ?

(a) Capacity building and research in planning and management of education
(b) Educational Planning and Administration

(c)  Fully maintained by the Government of India like any Central University
(d) A Statutory Institute of Educational Planning and Administration

Select the correct answer from the code given below :

Options:
91594215797, [:-i-'l) -i-'l[‘ld (b)
9194315795, (a) El['ld (L)

(a) and (d)

215394215799,



(b) and (d)

H91334515800,
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“elly el [l Asesul 58 aul auld 8 2

Options:

laryz
91394215829,
91394215830, AL
21394215831, s
291394215832, el

Question Number : 58 Question Id : 9139434029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘efly e [Ael’ Asesul 56 el aul 8 2
Options:

{luryz
91394315829,

91334515820, st

SEE

2915394215851,

21594215852, ARl

Question Number : 59 Question Id : 9139434030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el s il 5@ @2l BeuA sze duRl vael Agldl 2

Options:

B91234515823. EARRIA

912334515824, RIS

912334515835, el

91334515836, sadl

Question Number : 59 Question Id : 9139434030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A ez 541 Aot s(A [l [ sze Al il Aeldl 2

Options:

91334515833, EAHRI

913345155824, AR

9153394215855, el

9153394215856, sawdl



Question Number : 60 Question Id : 9139434031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AllAiel 5181 teds-¢l disml@cu Hallaq 53 6 0
Options:

zesiseud Geurm
913943215837,

ey Alass
91394315338,

sru2isz el
91394315839,

WMz ™
91394315540,

Question Number : 60 Question Id : 9139434031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AlzlAuiell 519l eeds-¢l disml@ou allaq 53 © 2
Options:
1594515857 wslseud Geurin

THRIeUE AAldds
Q1394215858

sruisz el
91394315839,

TG ElC
91394315840,

Question Number : 61 Question Id : 9139434032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
sl BaurARA cusd $3q 20 s 54 Yaas [Helasire ¢d 2

Options:

o Bl 2y R

913345155841,

9133451584%2. $lat Wwhos



91394315543, U8 HER

sU@opa
91394315844,

Question Number : 61 Question Id : 9139434032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

sl BaRARIA cusd s3q 204 s14 54 Yaas [Helansie ¢d 2

Options:

o Bl 2y RRsu

913345155841,

91334515584%2. slat wloy

91394315843, HEE HER

si@ia
91394315844,

Question Number : 62 Question Id : 9139434033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AdasARA3YA 58 23l Hsuell 2ol 20d S 2

Options:

91394315845, Decument

91394315846, cuon

Myth
91394315847,

Legend
91324515848,

Question Number : 62 Question Id : 9139434033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

AdasuRA3A 58 2w dguell 2loisaHl 209 6 2

Options:



91394315845, Decument

91394315846, cuon

91334515847,

Legend
912345158458,

Question Number : 63 Question Id : 9139434034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gl Errmildcudl Beus- yoni 53 wken ¢ 2
Options:

yallla-{lAL Msusrucus
91394315849,

[B2ezl apu
91394315850.

91394315851 ARAL HelE

AAAAL e
91594315552,

Question Number : 63 Question Id : 9139434034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gl [Ermldcudl Beus-i- o 53 wkan ¢d 2

Options:

YAl ususrueus
91394315849,

(B2ezl zu
91394315850,

91394315851 ARAL HHcE

AAAAL e
91594315552,



Question Number : 64 Question Id : 9139434035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

eraicl waAsiReaAl Sldgre’ Yacisel duisy A srguel
Options:

e Hdoll
91394315853

504313 S1eR1Y
91394315854,

9153394215855, et Ml

g sealul

291594215856,

Question Number : 64 Question Id : 9139434035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ueratedl wasiReaAl gldgi’ Yacsel duisy A3 srgusl
Options:

e Hedl
91394315853

5u13 5141
91394315854,

91334515855, et Ml

] el

91334515856,

Question Number : 65 Question Id : 9139434036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘eisollel’ Yacisil dvise] A sveuel :
Options:

91334515857, el 2u-is

91334515858, el weRes



H91334515859. e-de el

yuie slatiedl

91234515860,

Question Number : 65 Question Id : 9139434036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘llsolldl’ Yaeisell Auise] A sreudl -

Options:

21394215857, Hl}ﬂ At

91394215858, Hl}ﬂ H[EEQEHE

91394215859, BHIE H?Hdl

291394215860, E“l[ﬂg gﬂu&ﬂ
Sub-Section Number: 2
Sub-Section Id: 913943200
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 9139434037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5159 sl :
(a) SR
(b) wlxeunel
(o) llruell

(d) 300 218

Options:

tal), (e), (d), (b)
Q1394315861

(b)), (e), (a), (d)
91394215862,



(h), (a), (d), (c)
912394215863,

(el, (d), (b), (a)
91394215864,

Question Number : 66 Question Id : 9139434037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

5159 sl :
(a) SR
(b) wlxeunel
(o) llruell

(d) 300 218

Options:

(al), (e), (d), (b)
91394215861,

(b)), (e), (a), (d)
91394315862,

(b}, (a), (d), (c)
91294315863,

(el, (d), (b), (a)
912394215864,

Question Number : 67 Question Id : 9139434038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

515 dlsell
(a) 2t [ld

(b) Geu(dt

(o) #A[Greufsal

(d) MIdA
Options:

(h), (a), (), (d)
91294215865,

(el, (d), (a), (b)
91294215866,



(al, (e), (b)), (d)
912394215867,

(h), (a), (d), (e}
Q1394321 5868.

Question Number : 67 Question Id : 9139434038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

5159 sl :
(a) 2 [ld

(b) Geulat

(o) #A[Greufsal

(d) MIsA
Options:

(h), (a), (e, (d)
91394215865,

(el, (d), (a), (b)
Q139421 586E.

(a), (e), (b)), (d)
91394215867,

(b}, (a), (d), (c)
912943153868,

Question Number : 68 Question Id : 9139434039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

$1diAs 3 ol :

(a) Aeeyp-els[Cran-ual Slaerusieu: su.
(b) ActiBie cubiud alsaccultzeam:
(o) Wdendrard uldnL o ok

(d) Ml REUM sldeusyey cuoaied dsril

Options:

id), (e), (b)), (a)
91294215889,

(el, (a), (d), (b)
912394215870,



(a), (h), (), (d)
912394215871,

tal, (e), (d), (b)
Q1394315872

Question Number : 68 Question Id : 9139434039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

5159 sl :

(a) AeEYys-ELs [Cen-al Slagirus: s
(b) BB cublud 2lscicdfeutizowa:
(o) Mdeudrard uldwL oifd ok

(d) Wl EEuM ldeusyey cuoaie dasril

Options:

(d), (e), (b)), (a)
913943215869,

(e), (a), id), (b)
91394315870,

(a), (b), (e, (d)
91294315871,

tal, (e), (d), (b)
A13942315872.

Question Number : 69 Question Id : 9139434040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

515 dlsell

(a) odrlzubau (@23l
(b) §4lst

(0) @ia8les

(d) 2l 64 BleRon

Options:

(h), (a), (d), (c)
A1294215872.

La), (d), (b), (e}
91394215874,



(b, (c), (a), (d)
91394215875,

(el, (a), (d), (b)
Q1394315876

Question Number : 69 Question Id : 9139434040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

5159 sl :

(a) olrlzuba (@23l
(b) st

(0) @iatlles

(d) it 6 BleRosn

Options:

(h), (a), (d), (c)
91394315873,

(a), (d), (b), (e}
Q1394315874

(), (e), (a), (d)
H1334515875.

(c), (a), (d), (b)
Q139431587 6.

Question Number : 70 Question Id : 9139434041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

$1diAs 3 ol :
(a) W@

(b) €&

(o [Rz1de

(d) 2qeial
Options:

(), (a), (e), (d)
B1334515877.

icl, (b), (a), (d)
A1294215878.



id), (e), (b)), (a)
91394215879,

La), (d), (), (b)
91394215880,

Question Number : 70 Question Id : 9139434041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

5159 sl :
(a) i@

(b) €€

(o [B218e

(d) 2AusLL
Options:

(h), (a), (e, (d)
1394215877,

(el, (h), (a), (d)
Q1394315878

(d), te), (b), (a)
H13345158749.

(a), (d), (e, (b)
A1394215580.

Question Number : 71 Question Id : 9139434042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

$1diAs 3 ol :
(a) alve
(b) AsR2L
(e) ¥l

(d) Yleatl
Options:

(), (d), (e}, (a)
H1334515881.

(a), (h), (), (d)
G1294215882.



tal), (e), id), (b)
91394215882,

(el, (a), (b)), (d)
913942158584,

Question Number : 71 Question Id : 9139434042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

5159 sl :
(a) dloved
(b 2AsR2L
(e) ¥l

(d) el
Options:

(h), (d), (e}, (a)
913942158581,

(a), (h), (), (d)
Q1394215882

(a), (e), id), (b)
91394215883,

(c), (a), (b, (d)
Q13942155584

Question Number : 72 Question Id : 9139434043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

$1diAs 3 ol :
(a) sl

(b) WUy

(c) $lUet¥

(d) HelALEY
Options:

(e), (a), id), (b)
91394215885,

(b, (c), (a), (d)
912494215886,



iel, (b, (a), (d)
91394215887,

La), (d), (b), (e}
Q139421 5888.

Question Number : 72 Question Id : 9139434043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

5159 sl :
(a) dllda8L

(b) Wl

(e) $lay

(d) AerllESEL
Options:

iel, (a), (d), (b)
913494215885,

(h), (e), (a), (d)
Q139421 588E.

(e), (b, (a), (d)
91394215887,

(a), (d), (b, (c)
91294315858,

Question Number : 73 Question Id : 9139434044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

$1diAs 3 ol :

(a) o § 2AUEML €let dll 2 WESR Vet 53 Alviet |

(b) OUE | 244 ollofAL e %Y !

(o) R sty Vedl WM 6 % el 28 Bur LA o Aol ovg |

(@) Yuirll Rl WA grufl vl edl o el MR 8 2

Options:

(h), (a), (d), (c)
91294215889,

La), (d), (), (b)
912394215890,



iel, (b, (a), (d)
91394215891,

(h), (d), (a), (e}
Q1394315892

Question Number : 73 Question Id : 9139434044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

5159 sl :

(2) o § 2AUENL €let dll 2 WESR Vet 63 Aluiet |

(b) BUE | M Gllofdl s &Y |

(0 AL 2Asttsy Vel WA B 3 el 28 Gur e o A2l v |

(@) Yuiell Rctl WA giufl vtetid Hledll o Waasel o 8 2

Options:

(h), (a), (d), (e}
91394215589,

(a), (d), (e), (b)
913943215890,

(c), (b), (a), (d)
91394215591,

(h), (d), (a), (e}
91394215892,

Question Number : 74 Question Id : 9139434045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

515 dlsell
Options:

sAmad, sl slay Al sEa Gl carvadl, s 2 wldat
912394215893

(2l slhay AdlA sl [l carvaidl, sEwan, sEa 24 et
91394315894,

s, sEd 2 W, AdlA s [l carval, 24l sEda
Q1294215895

sl A M, sEman, 2=l ey sl s Bl savaHl
91394315896,



Question Number : 74 Question Id : 9139434045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5159 sl :
Options:

s, vl sfEay Add sk @3l cavadl, sEd 2 wlda
Q1294215892

vl s[QdL Al sEa [l carvaedl, sEwad, sEdl 2 W
Q1294215894

s, s 24 W, AdlA sEa Bl vl 2144 6
91394315895,

sAal A MlE, sEman, 2=l sleday Al slEa G2l vl
91394315896,

Question Number : 75 Question Id : 9139434046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

5159 sl :
Options:

alleieel 361, gl 361, s 2o qlEcml Asraid, Hizdld opsvzidl Mlcusl gzl
91394315897,

iRl 2pvicl Ml grirauAl dallaA-l 38| Slagel 3L - 20 M ypad
91394315898,

a0t RHHUR 4 ovaid, ldgimell 341, Wl 2prdl Ml gzl Hallan-l 38l
91394315899

gl 381, el dgoraicdl MuScual grizael, dalleiel 3L, oo suorRUcl 2pvaid
91394315900,

Question Number : 75 Question Id : 9139434046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl 2llsell -
Options:
dtlleirte(l 381, Sl 3L st 20 Ml i, Wl el Wl grzu-l

21594215897,

Wl 2pevidl Ml gl Hallan-l 3EL, Sl 3L @ 20wl ypaid
91394315898



o0t AU vt Sldgimell 3L, Wl vl Ml gzl Hallan-l 38l
91394315899

gl 51, il devaidl Moyl qrivaidl, dallesl 361, o4 2uemaldcl dsriid
91394315900,

Question Number : 76 Question Id : 9139434047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Sl s ol :
Options:

Heayd e, 90l Bausqe, s
Q1294215901

Heayde, Basdu, 430l HsBRH
Q1=394=2154902,

2o830L, usds, Hods, HeRAA,
Q1294215903.

Bausoe, uoaudel, qasis0l, HeM2l,
91394315904,

Question Number : 76 Question Id : 9139434047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5153 lsel :
Options:
Yeayde, =80l [Busdy, wspRuH
913494215901,

Heaydd, Fusdu, qaseel, sl
Q1294215902

4630l (S, A, HEMRAIA
Q1=394=215490%,

Bausoe, doauds, qasisel, HEMR2UA
Q1294215904

Question Number : 77 Question Id : 9139434048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

515 dlsell

Options:



5@, gL, Hlctidl, 32

91234515905

g8, 3, glaoi, el

913345153906,

Hireliedl, (01, FlA, g8l

H1334515807.

A, Al 5@, g8l

91334515908,

Question Number : 77 Question Id : 9139434048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5159 sl :

Options:

glQoiA, g8, Hirctedl, B2l

91334515305

58l 3, glAoiA, Hirauedl

21594215906,

Hircliedl, 5@, FlA, §8L

912334515907,

Fld, Heciedl, glAo, gd-l

913342153908,

Question Number : 78 Question Id : 9139434049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

$1els3 dllsel :
Options:
Sl Raus, Bl R, sl Hgal, Aoy ides

291594215909,

Aoy lAes, ol HPR, AR AU WA, B Raus

91234515910,

srlet 2Udes, Aoy pides, el Raus, 22U U

91334515911,



srlet 24gel, & Raus, AU Nz, A2y 2

91233451591 %2.

Question Number : 78 Question Id : 9139434049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5159 sl :
Options:

Sl Bs, wia vl R, svdld M, Wy vl

91334515909,

Aoy iirdes, ol PR, B BA. WA, B Raus

291594215910,

srl ies, Ay 2ides, dBL R, ARBAU. wR

912334515911,

srdled P, Rus, Bl pid. Usr, WY 2

9133451591%.

Question Number : 79 Question Id : 9139434050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sl s ol :
Options:
g, gel, s, aredl

91334515913,

gEL, 4, v, rell

2915334215914,

WL, uE, §el, 2redl

91384515915,

yg, vl awredl, gel

91334515916,

Question Number : 79 Question Id : 9139434050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

51AlAsH lsel :

Options:



g, §el, oW, rell

912334515913,

g€l uE, vwi, 2rell

912334515914,

WL, uE, gL, 2iredl

91334515915,

g, vl arefl, gél

91334515916,

Question Number : 80 Question Id : 9139434051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Sl s ol :
Options:

e sLuell, sruued wRuR, sHeud sardl, ¢y wilkis
91334315917,

¢y WS, soud sadl, gaa sreuell, seumed YRuR
91394315918,

o HE TR, ¢ WEts, s4eud s, g stusll
91394315919,

seeud oall, g stenell, sy 2Rs, sded WAHR
91394=215920.

Question Number : 80 Question Id : 9139434051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

13 2llsell -
Options:
sare siell, srpied YRR, sHeud sl sy ulss
91394315917,

¢y q=s, seud onedl, gAR s1usll, srumed yrHR
91394315918,

sPAHEd YRHR, ¢y WEs, sqoud sa-ll, A siuell
91394215913,



seud oll, g stenell, sy RS, sred WHR
91394315920,

Sub-Section Number: 3
Sub-Section Id: 913943201
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9139434052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A2l Yol sy oLl -
Options:

HEL YL ; YU, SLAAIA, Hoalld v
91394315921

Yers Y1 1 deulat, weldlgar v, sreisredl saq
91394315922

UER YL - Blidel, wudls, v
91394315923,

aliedl Ly wdHr, Y, [Qend [Bre
91394315924

Question Number : 81 Question Id : 9139434052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Aefeul Yol sy oyl :
Options:

HEL YL : YU, LA, Hoald v
91394315921

YURs YL AUl weddlgaz suvad, sedisaedl s
2913342153922,

UER YL - Blidel, wudls, v
91394315923,

alefl Y1 - e R, Y, Beud Bag
91394315924,

Question Number : 82 Question Id : 9139434053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A2l Yol sy syl :
Options:

UMY : B2, Y, 28R
91394315925,

ol : 3z, i, vt
91394315926

AlEc : 3108, 28, 26y
91394315927,

Riew : eisel, veur, ol
91394315928,

Question Number : 82 Question Id : 9139434053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A2l Yol sy oyl :
Options:

RN : B2, Y, 2R
91394315925,

ol : 3, e, vt
91394315926

Al - 3108, 28, 26y
91394315927,

[iey : eisel, veur, 2kl
91594315925,

Question Number : 83 Question Id : 9139434054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Aefeul Yol sy oyl :

Options:
ellld - e, Bea, »ia
91394315929, ™, DA,
0L - UL, W, uER
91394315930.

et : alday, lal, Mgl
91394315931,



g1 - 2usH, e, Wldear
913943215937,

Question Number : 83 Question Id : 9139434054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Aol Yol oy syl :
Options:

uedlld : meR, Blea, @i
91394215929 ®, DAL,

el : Mol WA, MR
91334315930,

gt : alday sy, Mgl
91394315931,

g : 2iusy, e, ulder
Q1=394=21549=52,

Question Number : 84 Question Id : 9139434055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Aol Yol oy syl :

Options:

gl : &, 2lloy, oA
915943154935

ol : claey, e, ooz

91394315934 =0 T, e,

UK : callsL, WoR, 214
915943154935,

Yacl : cuxe], wiee], e
91394315936,

Question Number : 84 Question Id : 9139434055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Aefoul Yol sy syl -
Options:

Al : &, 2llyy, oA

H91334515923.



Al - el
91394315934, wgell : aluey, e, Gk

UKL : 2lls3, R, 21lg

291594215955,

el - e, weel, e
91394315936,

Question Number : 85 Question Id : 9139434056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Uefeul Yol sy eyl -

Options:

22l : Hzlssl, AR, B
915943154937,

dd(2at 51z dlEL : o, g,
91394315938, ' & & W

o sle 18 : Aldiagy, evadel, <l
91394315939,

ol Riread : oillazw, Adlar, 2iase
91394315340,

Question Number : 85 Question Id : 9139434056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A2l Yol sy oLl -

Options:

218l : WRIsL A, Berr
91394315937,

dgl2a 51z SUEL - o2, d2, gl
91394315938, ' ® k

o sler 18 : Aldiagy, evaiel, <l
91394315939,

ol R : ellazy, AMlar, 2sise
91394315940,

Question Number : 86 Question Id : 9139434057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A2l Yol sy syl :
Options:

AR - MBIdRel, 2esse, vl
913943215941

BRGMS : UL, dsiglAa, Asuasue
91394315942,

R TR S RN RE L E
91394315943,

Hrs R - gz, dleleiedl, wlkeadyz

91334515944,

Question Number : 86 Question Id : 9139434057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A2l Yol sy oLl -
Options:

AR : WMo, 2852, ol
91394315941,

BRRS : oPAHSLY, dsiglAu, AsHasue
91394315942,

o Yrllz WL gcul, e, 3ad
91394315943

s ¢ geluryr, dlelsidl, wieadyr
91394315344,

Question Number : 87 Question Id : 9139434058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Aol Yol oy syl :

Options:
91394315345 wRRetcleg, ;- woll evley’, ‘st dlar, ol Al
1594515946 Wl et wisOvad, el WL, URbuwe’

el : WA, Uldens’; ‘M’

291594215947,



Aol Al : slIB], ‘Gl o oy 7', Fduqu’
91394315948

Question Number : 87 Question Id : 9139434058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A2l Yol sy oLl -
Options:

drecllarg « woll epiey’, ‘s dlar, g 2R
91394315945,

Wirdelll ot : Bis v, Al WAL, Bz’
91394315946,

2yl : Weel, uldens’; Fzad’

91334515947,

el A : “saIB], Guinl o oty 7', u-u’
9133942153485,

Question Number : 88 Question Id : 9139434059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
U2l Yol sy syl :

Options:

A4ERH : As, HHAE ; ads1d 2 2087, Adg-l sEal’

91334515949,

L wss - sus@) ‘sieuddl ulsl, slan 2 2ol
91394315950

Guizisz sdall : ‘wREYAN, v, siA, Al sEAC, L AHERL qR
91394315951,

Yral ol - ‘surlewl v, sreul 2adddl, ezl ol G sEar
91394315952,

Question Number : 88 Question Id : 9139434059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

UL Y2 og2 orQuel :

Options:



AERH : Azsl, s ; ads1d 2 2087, Ade-l sEAl

291594215949,

L wss ;- sus@) ‘sieadl b, s 2 2l
915943154950,

Guizisz sdall : ‘UREYAW, v, siA, Al sEAC, WAL AR qR
91394315951,

231 saall - ‘seRlzul bW, ‘sl iedddl, ‘izl ol Gzl slEa’
91394315952 ’ ’

Question Number : 89 Question Id : 9139434060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Uefau [ sg svguel -
Options:

5.6 gl - el AUcsHL MRl 9eR sie, yerAl BAlAeiRs 2udany dlaAH wol
91394315953,

550 el : 2slal, ol wBRll el 2iven sEi
91394315954,

olloflene UiZuzL : oot LR Ml v, Sl 3|, Rlern o=l
91394315955

sRecaet orpuell : e, yeuEur, drulEmHl
91394315956,

Question Number : 89 Question Id : 9139434060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Aefaul (ot og2 srguel :

Options:

5.6, Gt s QERL sl A 9oz sied, werHll AleRs sudianl, dallaqd sl
91394315953,

550 el : 2prsial, el BB usrl, 2uven sEil

291594215954,

ollollee ML : o 2 Ml e, Slagiu-l 36, R el
91394315955,



sRereaet oppell : e, yeufBuRr, drulEmHe
91394315956

Question Number : 90 Question Id : 9139434061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ul [aiod epa svQual
Options:

Uellsetle - e, yeldeud, 3uliar, uilsa
91394315957,

DIERIUE : 2ucndBial, YTuRIeisdl, ddEAugal
91394315958,

seyAdE : 3uladr, yldswel, 2usrMABA
91394315959,

2Retcetale : [olld, dusigl, daryfsa

913343153960,

Question Number : 90 Question Id : 9139434061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AefauL [ g svguel -
Options:

Uellselie : o] YAlled, 3uEar, dildsa
91394315957,

DIERIeE : 2ucnalBiay, wiuRIeirsdl, deEAugal
91394315958

seyAdE 3R, yldsel, 2usRMABAW
91394215959,

Rccasle : [olld, Fusigl, Ad-uyfsa

291234515960,

Question Number : 91 Question Id : 9139434062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Ul [aiod epa svQual

Options:



A2 - G, Rlaricusdl, 2isisd
913943215961,

[[oier - 2iddl, Rladicusdl, del-icnsdl
91394215962 L U, 48

s30URT : 2o, Ridricusdl, s3eid
91394215963,

VESIEY - SYALCHS AL, AllZAlcHS L, HIEN
91394315964,

Question Number : 91 Question Id : 9139434062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ul [Eaiod epa svguel :
Options:

HiHz : G, Rladicusdl, 2isisd
91394315961

[[eitt : 21adl, Biddicusdy, gel-icusd
91394315962, < A, A8

s300URT : 2iaddl, Rldricusd, s3eidl
91394315963,

VSsIeY : SUALCHS AL, AAl2alcHsdl, BiEN
Q1=394=215964,

Question Number : 92 Question Id : 9139434063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Aefaul (i oy svguel -
Options:

YURS YL : e sl ARBLS1L, Cflgisial
91394315965,

HIBR 431 - devancll, HEA, suANEL
91394315966, 3 9 3

alell yau - iy, SBEl, ellelle

91334515967,

215 o1 dawvdl, 5ld, Al

91334515968,



Question Number : 92 Question Id : 9139434063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Aefaul [ g svguel -
Options:

YURS YL : el g, ARBLS1L, Cflgisial
91394315965,

MR YL - dlericll, HelA, sl
91394315966, 3 3 3

alell Yoo : i, Shyel, el

91334515967,

215 4L dadl, 5, Ul

21594215965,

Question Number : 93 Question Id : 9139434064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Aefaul [ g svguel -
Options:
91394315969, (oenell o1zell : wetcretl o, sl Pl AL éetl 88831

sl (RS e - vyt sl e dlssauil, el suelil
91394315970,

srued TR ;e disrizgld, dissa dauald, sibusis-l usdu
91394315971,

el sl - svaigent sfcend, Arell Mlecpely, «lei dleul 2
91394315972

Question Number : 93 Question Id : 9139434064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Uefau [ sg svguel -

Options:

[loinzll 212ell : seictzAl san, Measl Wull, At 2l s530
91394215969,



sl (Bl e - vy sl eudbun dissauil, 2vel suelil
91394315970,

e YRHIR - el disargld, dissa danald, slususl usdu
91394315971,

e ARl : ovaged séctond, wrell ulEcpely, @3 ozl 2
91334215972,

Question Number : 94 Question Id : 9139434065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Aefaul (i oy svguel -
Options:

Heugl, 2ebidL Elzsie]
91394315973,

dsrlg, dowwl, [E-exedl
91394315974,

FMIE, VRUeR, damasl
91394315975,

A, YR, $3ley
Q1294215976

Question Number : 94 Question Id : 9139434065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Aefaul (i og2 svguel :
Options:

Heuel, vebinl elzsie]
91394315973,

csalg, dowwy, [Ererieel
913394215974,

FRIME, VRLuoR, Ll
91394315975,

e, 4R, ¢3ley
913294215976,

Question Number : 95 Question Id : 9139434066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Ul [aiod epa svQual
Options:

USIGURA - AMEL, EIRIRISY, RUHL
Q12394215497 7.

N - H3EL, izl Hedd
91334515978,

AL B, 2y, b
91394315979,

el : [Bdly, gegudl, oves

21594215980,

Question Number : 95 Question Id : 9139434066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Aefaul [ g svguel -
Options:

HSIOURA : AL, EIRIRISY, ABL
913943215977,

HE - H3EL, Azl Hedd
91334515975,

AwHEL : B[, 2y, cdluyg
91394315979,

ayeial : By, Segud, oves

91334515980,

Sub-Section Number: 4
Sub-Section 1d: 913943202
Question Shuffling Allowed : Yes

Question Number : 96 Question Id : 9139434067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ALzl [Qeul-ll weuelan ayl -
B qnfldl @z’ Al s390ukL 5@ 1Bitisz 20w oz Sied’ B,

B cllouriin ALl ‘oeula’ Anid s gl s avy 8.

Options:



(A) 2 (B) Y ML 6.
91394315981,

(A) 2 (B) oid Wizl 8.
Q1394215982

(A) HRL 8 2 (B) W2 5.
91394315933, 3 %

(A) Vi 8 2 (B) W™ 5.
91394315934, % 3

Question Number : 96 Question Id : 9139434067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A2l (el qeaelan duil

A sanfldl [@ze¢” Al s3emubaq s@ wBiisz 2w oz Sid’ 8.
B ellouriin (Bl oyl Apid 25 €l sien avy 6.

Options:

o1304515am; A el (B) “A AL .

(A) 2 (B) ol Wizl 8.
Q1=394=2154982.

(A) HRL 8 2 (B) W2 8.
91394315983, 3 %

(A) Wi 8 2 (B) W™ 5.
91394315934, g 3

Question Number : 97 Question Id : 9139434068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A2l [l qaueian duiml -
(A) 2[EEclreuaidlziizl salioldl B sl ¢dl

(B) agzcatrl iensel Roidllda Feq Gloj a .
Options:

(A) 2 (B) Y WL 8§,
91394315985,

(A) 2 (B) Y Wizl 8.
91294215980,



(A) HRL 8 2 (B) W2 8.
91394315987, 3 %

(A) WiZ 8 2 (B) & 8.
91394315938, % 3

Question Number : 97 Question Id : 9139434068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Al2Al Qe q2uslan dwrl
(&) w[ERarqualzz cawel-l [e 54l ¢dl
(B) agzcatrl iensel Roidllda Feq Gloj a .
Options:
o1m045150ms A 2 (B) ol ARl B,

(A) 2 (B) Y Wizl 8.
91294215980,

(A) MR B 2 (B) W2 5.
Q1=394=215987. % ‘]%

(A) W2 5 2 (B) HE 5.
91394215988, g 3

Question Number : 98 Question Id : 9139434069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AL el qaueldan dyml -
(A) zsul 2iltene] [ el 2ye ad sdl -2l

(B) aicflerl Hal 210€ 24 212 928 ‘ueudlu-u’-l o 8.

Options:

A) ¥4 (B AL 8.
91394315989, (®) 2

A) ¥ (B wizi 8.
Q1=394=2154990, (A) ( }“Ia'

(A) WY B i (B) WiE .
21594215991,

(&) ¥ 6 24 (B) HE .
215394215992,



Question Number : 98 Question Id : 9139434069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=il Eenriedl qeueldn cyml -
(A) Azsul 2] (bl el wye ud 2usdl ol
B) aicfslerl Hel 210€ 24 212 9422 ‘deuglu-u-l 2oiu .
Options:
A) ¥4 (B AL 8.
91394315959, O 1B “a

A) ¥4 (B izl 8.
91394315990, (B) ta

(A) MR B i (B) W2 8.
91394315991,

(&) W2 6 2 (B) U B.
91394315992,

Question Number : 99 Question Id : 9139434070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=il el qeuslan dul

(A) ‘A poem should not mean but be.” — [Slétr i&[ﬂﬂd o.
(B) « (SR u (Aeu [dun) Uslsl werrgeld 2icid dereryel W 8.

Options:

‘A) 24 (B HERUL 9.
Q915942315993 ‘ ¢ }“lﬂ

‘A) 24 (B Wiz 8.
Q913942159494 ) ( }b{a

A) WY O 2 (B) Mg .
Q91294215995

) vlg 8 2 (B) WY 8.
Q1294315996

Question Number : 99 Question Id : 9139434070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A2l (el qeaelan duil

(A) ‘A poem should not mean but be." — [eeunt ﬁ.ﬁ[ﬂ?l‘i .
(B) «y [(hlefinu (dent [Adun) Uslsl wergeld 2icid deraryel W 8.



Options:
‘A) i (B AL 5.
91394315993, B 2

‘A) 2 (B izl 8.
91394315994, (B 12

A) WY O i (B) Vg 8.
913943159495,

A) i B i (B) WY B.
91394315996

Question Number : 100 Question Id : 9139434071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A2l [Qeul-ll weuelan aul -
A 131230 sl e Wg 4R’ =B 2l 2l 8.
B) duzprgitirl Rugd sl dizga orunl agll il sueal 8.
Options:
A) 2 (B) vz Al 8.
s1304315007, A LB edd

A) ¥4 (B izl 8.
91394315008, (B)

(A) U B i (B) W2 8.
215394215999

(&) W2 6 2 (B) U B.
91394316000,

Question Number : 100 Question 1d : 9139434071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A=Al [Cenril senelan auel -
A 131230 UdsHl e g AR’ =B 2l 2l 8.

B) duzprgitirl Rugd sl dizga orunl agll il sueal 8.

Options:

A) ¥4 (B AL .
91394315907, M () eta

A) ¥ (B izl 8.
91394315908, (®) “a



(A) MR B i (B) Wi .
215394215999,

(&) Vi 6 24 (B) R .
215394216000,

Question Number : 101 Question Id : 9139434072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Al2inl Eeuriefl qeuslan cul :
(A caepe-l 2L AreusdAl sl 20l ¢dl
(B) geuziord el seAeiid 2420 Yisell 51345 oAl et 6.

Options:

A) ¥4 (B AL B,
91394316001, (B) ta

A) ¥4 (B Wizl 8.
91394316002, () “ta

(&) WY B i (B) WiZ 8.
91334216003,

(&) viZ B 24 (B) W .
91394216004,

Question Number : 101 Question Id : 9139434072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A2l Qeudl-ll weuelar ael -
(A cuappe-l L Argudl s2aril 20l edl
(B) getyzlors WSl ettt 218 visell 51345 setul sad ©.

Options:
A) 2 (B Hil 8.
91394316001, ) ®)

A) ¥4 (B izl 8.
91394316002, (B)

(A) MR B i (B) W2 .
91394316003,

(4) v 8 24 (B) Wy B.
91394316004



Question Number : 102 Question Id : 9139434073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A2l [l qaueian duiml -
(A el e e Wl <1l delad 53 8.

(B) g ¢rys duad 25 AlAzys” Al WECL WSS AL 2ol Gedwn S,
Options:
A) 2 (B) vz Al 8.
s1304316005 A 1B *ad

A) ¥ (B izl 8.
91394316006, (®) “a

(A) U B i (B) W2 8.
215394216007,

(&) Vi 6 24 (B) HR .
91394316008,

Question Number : 102 Question 1d : 9139434073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Al el qeuelan cmil ;
(A) el eBan o el a1l delad 53 8.

(B) fye ¢rys duad 25 AlAzys’ Al WECL WSS AL 2ol Gedw 8.
Options:

A) ¥ (B LS.
91394316005, (®) et

A) ¥4 (B izl 8.
91394316006, (B) ta

(A) MR B i (B) W2 8.
91394316007,

(&) W2 6 2 (B) U B.
91394316008,

Question Number : 103 Question Id : 9139434074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A2l Qeudl-ll weuelar ael -
A) ydgary cciHl wRda adl Auidy e 2 vae sy ©.

(B) “opepifeid” i Auis Hirdta-l Gedut sae A2l

Options:
(A) 24 (B) ofg M=l 8.
Q1394321 68009,

(A) 2 (B) oid Wizl 8.
A1=394=21c010.

(A) HRL 8 2 (B) W2 5.
91394316011, 3 %

(A) Vi 8 2 (B) W™ 5.
91394316012, % 3

Question Number : 103 Question Id : 9139434074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ALl [Qeudldl weuelar al -
A) yieary el wRdal ol Aty e o vae sy ©.

(B) ‘ogepifely” i Quis Hirdta-l Gedut sac 2l

Options:
(A) 24 (B) A AL B,
913942160039,

(A) 2 (B) g Wizl 8.
A1=294216010,

(A) HERL 8 2 (B) W2 5.
91394316011, 3 %

(A) Wi 8 2 (B) W™ 5.
913942316012, g 3

Question Number : 104 Question Id : 9139434075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A2l [Qeudl-ll weuelan el :
A) Qg 24 s 56 o 2ot A2L" - naga Bat oLs. a8l 6.

(B) uye 3 518 slc A2l - sagd Qe 3 6.

Options:



(A) 2 (B) Y ML 6.
91394316013,

(A) 2 (B) oid Wizl 8.
A1=94=21c014,

(A) HRL 8 2 (B) W2 5.
91394316015, 3 %

(A) Vi 8 2 (B) W™ 5.
91394316016, % 3

Question Number : 104 Question Id : 9139434075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A2l (el qeaelan duil

A) Qg wid s 56 o ool 42l” — nrga Badt oLs. a8l 6.
(B) Gy 3 516 sEicu A2l - uagd Band 3 6.

Options:

o1304516015 A el (B) “A AL .

(A) 2 (B) ol Wizl 8.
Q1=94=21:014.

(A) HRL 8 2 (B) W2 8.
91394316015, 3 %

(A) Wi 8 2 (B) W™ 5.
91394216016, g 3

Question Number : 105 Question Id : 9139434076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Al2inl Eeuriefl qeuslan cul :

(A opeer A weirsisil ofldl dis@cud allaq 54 6.

(B) ‘Qismil@eu : Hallart e e AL duis sReeaoy spell 8.
Options:
1304516017 @ 2 (B) oA AL B,

(A) 2 (B) Y Wizl 8.
91294216018,



(A) HRL 8 2 (B) W2 8.
91394316019, 3 %

(A) WiZ 8 2 (B) & 8.
913942316020, % 3

Question Number : 105 Question Id : 9139434076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ALl Beuril weuslan dawirdl
(A opeer A weirsisil ofldl dis@cud allaq 54 6.

(B) ‘sl : Halleq 2 Hwg- AL dus shacas opell 8.
Options:

(A) 2 (B) Y WL 8§,
Q1=294216017.

(A) 2 (B) Y Wizl 8.
91294216018,

(A) MR B 2 (B) W2 5.
A1=394=21c0149. % ‘]%

(A) W2 5 2 (B) HE 5.
91394216020, g 3

Question Number : 106 Question Id : 9139434077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Al Reull weuldn duril
(&) 2Ricalls WrsAd-Hl s Yead sk o,
(B) 2pg[Ascisle »itl dubas g1l 2lsizdl 2l

Options:
A) 2 (B Hil 8.
91394316021, &) ®)

A) ¥4 (B izl 8.
913943168000 M (B)

(A) MR B i (B) W2 .
91394316023,

(4) v 8 24 (B) Wy B.
91394316024



Question Number : 106 Question Id : 9139434077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ALzl Bl sauslan quisl -
(&) 2Rcicslle WrAdeiefl Alcds Yoo yask o,
(B) 2yg[sacie 21wl dulsds gal-d wlsirdl 42l

Options:

A) ¥4 (B AL B,
913943168021, (B) ta

A) ¥4 (B Wizl 8.
91394318022, M () eta

(&) WY B i (B) WiZ 8.
91334216023,

(&) viZ B 24 (B) W .
91394216024,

Question Number : 107 Question Id : 9139434078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ALzl Bl seuslan dudl
(A) uzictee-Al dlvell o g5l sl saucusdl-d Rulel am 8.
(B) wqruaie 2A[G1rfd sanisi .

Options:

(A) il (B) tgl Ml 6.
Q1294212025

(A) 2 (B) g Wizl 8.
Q1294216028

(A) MR B 2 (B) W2 5.
91394216027, 3 g

(A) W2 5 24 (B) HE 5.
91394216028, g 3

Question Number : 107 Question Id : 9139434078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ALzl Bl sauslan dudl
(A) yzeicteeil dlvell o 251 bl scucusdi-d Rulel am 8.
(B) v 2By senisR 6.

Options:



(A) 2 (B) Y ML 6.
91394316025,

(A) 2 (B) oid Wizl 8.
Q139421 c026,

(A) HRL 8 2 (B) W2 5.
91394316027, 3 %

(A) Vi 8 2 (B) W™ 5.
91394316028, % 3

Question Number : 108 Question Id : 9139434079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ALl [Qeudldl weuelar al -
(A) B MEA gL darlens Aol 2ueumHl e uHl
(B) oliRetl qericds HUScd 2431l uert [Bar el epilz 2uel

Options:

(A) 2 (B) Y Wl 8.
91394316029,

(A) 2 (B) 4 Wizl 8.
Q12942180230.

(A) MR B 2 (B) W2 5.
91394216031, 3 g

(A) WiZ2 8 2 (B) W 5.
Q1394210022 \'é %

Question Number : 108 Question Id : 9139434079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Al2iAl [Qeul-ll weuelar dauel -
(&) yEREL MEA gRL daiens Al el el e wil
(B) ouzctHl qeriicus AU i3l e Bz 2ellegrian evillzd wuedl

Options:
(A) 24 (B) ¢ AL 8.
913942160239,

(A) 2 (B) Y Wizl 8.
Q1294216020



(A) HRL 8 2 (B) W2 8.
91394316031, 3 %

(A) VI 8 2 (B) HR™ 5.
91394316032, % 3

Question Number : 109 Question Id : 9139434080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A2l [l qaueian duiml -

A) R’ At eyl qeBls-L HwEs woud sizisio g
B) ey’ Al 208yl Unls-L 2wes Fdord oaid g,
Options:
o1m045160ms @ el (B) “A MUl B.

(A) 2 (B) g Wizl 8.
Q1294216024

(A) HERL 8 2 (B) W2 8.
91394316035, 3 %

(A) Vi 8 24 (B) | 5.
91394216036, g 3

Question Number : 109 Question Id : 9139434080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A2l [Qeudl-ll weuelan el :
A R’ A eyl ueBls-L HwEs wgeud sizisio g

B) R’ Al 208yl UnBs-AL wes [Flord oad o,

Options:

(A) 2l (B) YA ML 8.
91394316033,

(A) 2 (B) Y Wizl 8.
Q1294216024

(A) MR B 2 (B) W2 5.
91394316035, 3 g

(A) Wi 8 2 (B) W3 5.
91394216038, g 3



Question Number : 110 Question Id : 9139434081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AL el qaueldan dyml -
(A) Easul oL dissUil s [l €U 6.

(B) ‘¢ a4 el el Easau 8.
Options:

(A) 2l (B) YA ML 6.
Q1294216037

(A) 2 (B) g Wizl 8.
A1=Z9421E025,

(A) MR B 21 (B) Mg 8.
91394316039

(W) Vi 8 2 (B) WY 8.
912334516040,

Question Number : 110 Question Id : 9139434081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Al el qeuelan cmil ;
(A) sl Yol sl 215 [Exdl €l 5.

(B) fog a4 sl Aeuglll Easau 8.
Options:

(A) il (B) tgl Ml 6.
Q1394210027

(A) 2 (B) g Wizl 8.
Q12942 16038,

(A) IR 8 21 (B) Wig 8.
91394316039,

(W) Mg 8 i (B) U 8.
91394316040,

Question Number : 111 Question Id : 9139434082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A2l B selsroiried duidl
W) apaerl sErerRl’ 20vu-raz AL eEl qaell dd 8.

(B) oyl ‘sigaezl’1 ssaeianl awll 8.
Options:
(A) 2l (R) YA HIRAL 8.
91394316041,

(A) 2 (R) g Wizl 8.
A1=294216042,

(A) MR B 2 (R) Mg 8.
91394316043

(&) i 8 2 (R) U .
91394316044,

Question Number : 111 Question Id : 9139434082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Al2Al [QeudlA sedsreed dul
A) apaerl ‘siererl’ 2ArurzazunAL oul el Yz 8.

(R) el “sigredl’A ssaueial awll 8.
Options:

(A) 2l (R) Gl Wl 8.
91394316041,

(A) 2 (R) 4 Wizl 8.
Q1294216042

(A) MR B 2 (R) W2 5.
91394316043, 3 g

(W) Mg 8 2 (R) U3 8.
91394316044,

Question Number : 112 Question Id : 9139434083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AL B sRisreRHE il -
(A) sleulden we Geviel Guid HMssd HsRA el Winsll 21gws el 5.

(R) 3o eyculeiedl Gon sicupore ugd ol

Options:



(A) 2l (R) M ML 8.
91394316045.

(A) 2 (R) oid Wizl 8.
A1=394=21c046,

(A) MR B 24 (R) Mg 8.
91394316047,

(&) v 8 2 (R) U .
91394316045

Question Number : 112 Question Id : 9139434083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Al2Al [eurl seisrRHEE daul
(&) slEmfen w2 Gouen Gurid e UsiRA woL Haiusi=l 2eps Al 6.
(B) oo cycyviell Grau sicumsi ag -l

Options:

(A) 2 (R) M |l 6.
91394316045.

(A) 2 (R) 4 Wizl 8.
91294216046,

(A) MR B 2 (R) W2 5.
91394216047, 3 g

(A) WiZ2 8 2 (R) W™ 5.
Q1394210045 ‘]é %

Question Number : 113 Question Id : 9139434084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A2l [l seisiremeE duml -
(A) sienzulel udl Rueyd Julsas € 8.

(R) 22l 243y culscrudat ©.
Options:
(&) 2 (R) e MRl 8.
41394316049,

(A) 2 (R) g Wizl 8.
Q1294216050



(A) HRL 8 2 (R) W2 5.
91394316051, 3 %

(&) i 8 2 (R) U .
91394316052,

Question Number : 113 Question Id : 9139434084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A2l [EeaiiA seisreRieE dul -
(A) gslenrizauleal udl rueyd dulsas du 6.

(R) 2uieiete 23y culsammia .
Options:

(A) 2 (R) Y Wl 8.
91394316049,

(A) 2 (R) 4 Wizl 8.
91294216050,

(A) HRL B 2 (R) W2 5.
A1=394=21c051. % ‘]%

(A) WiZ2 8 2 (R) W™ 5.
Q1394212052 ‘]é %

Question Number : 114 Question Id : 9139434085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Al2AL el seisrerieid duml -

(A) A2y 2des W B %, sldvel Hidld ey ol weAil xeel Bl uuy
4 UL

(R) Uicdly Ayl wedBls Hauzisel Azl usidl -2l
Options:
(A) 2 (R) “dd ARl 8,
91394316053,

(A) 2 (R) 4 Wizl 8.
Q1294216054

(A) M B 2 (R) W2 8.
91394316055, 3 g

(A) WiIZ 8 2 (R) HR™| 5.
Q1394210056 ‘]é %



Question Number : 114 Question Id : 9139434085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Al2AL el seisrerieid duml -

(A) A2y 2des W B %, sldvel Hidld ey ol weAil xeel Bl uuy
4 UL

(R) Uicdly Ayl wedBls Hauzisel Azl usidl -2l
Options:

(A) 2l (R) i |l 8§,
A1=29421E052,

(A) 2 (R) 4 Wizl 8.
Q1294216054

(A) M B 2 (R) W2 8.
91394316055, 3 g

(A) WiIZ 8 2 (R) HR™| 5.
91394216058, g 3

Question Number : 115 Question Id : 9139434086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A2l Qe iR vl

(A) oldl s2ld o, 22 af sl -l

(R) oflell AHARUEA gL 2t e RUEAL gt el .
Options:

(A) 2 (R) M |l 6.
Q1294216057

(A) 2 (R) 4 Wizl 8.
91294216058,

(A) MR B 2 (R) W2 5.
91394216059, 3 g

(A) WiZ2 8 2 (R) W™ 5.
91394216060, g 3

Question Number : 115 Question Id : 9139434086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A2l Qe seisroHeEE vl

(A) oldl seld e, 22 4 usdl el

(R) ofid] RUE gzl 21 o [ gri a8,
Options:
1304516057 A 2 (R) ol dRL 8.,

(A) 2 (R) 4 Wizl 8.
91394216058,

(A) HERL B 2 (R) W2 5.
Q1=394=2120549, % E

(&) v 8 2 (R) HE .
91394316060,

Question Number : 116 Question Id : 9139434087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ALl QeudliA selsrereddl ayrl -
Q) ‘g3 s Sud 21l lQeys” ui Bradl AesBoua 260 cuiell og-{l argil woll 2uadl
(R) At Hirtdll ¢ell 3 il il breoll € 8. st il e seausel W3 8.
Options:
o1m0an1c0n; @ el (R) A UL .

(A) 2 (R) g Wizl 8.
Q1294216082

(A) MR 8 2 (R) M2 8.
91394316063,

(&) Vi 8 2 (R) MR O,
91394316064,

Question Number : 116 Question Id : 9139434087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A2l [eudlA selsreriedl ayil
(A) ‘g3 s Suad 21l l@eys” ui Bradl Aesloun 20 cuiell ogell ergil woll 2uedl
(B) Ak Hirdl el 3 rgild el breoll €l 8. A il e seousel w3 8.

Options:



(A) 2l (R) M ML 8.
91394316061,

(A) 2 (R) oid Wizl 8.
Q1394210062

(A) MR B 24 (R) Mg 8.
91394316063,

(&) v 8 2 (R) U .
91394316064

Question Number : 117 Question Id : 9139434088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A=Al Qe selsizerioidl il -
A) peus’ | fa Rl Wi 2slell 2usryusll wA 8.
(R) Setied Aot SIE el sl Reuaiel disl 4EE s2cl 28U B,

Options:

(A) 2l (R) Y ML 8.
91394316065,

(A) 2 (R) gl Wizl 8.
Q1294216088

(&) MR 8 24 (R) M2 8.
91394316067,

(A) VWi 8 2 (R) W™ 5.
91394216068, g 3

Question Number : 117 Question Id : 9139434088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ALl BeulA sedsrericdl durdl -

A “ayeus” ol o Rl lciA 281l 2erycusll A 8.

(R) gelied ey GlIE szl dlsl Rl disl 4es sl 28U 8.
Options:
1394516005 A el (R) A ML 8.

(A) 2 (R) 4 Wizl 8.
913294216006,



(A) MR B 24 (R) Mg 8.
91394316067

(&) i 8 2 (R) U .
91394316068

Question Number : 118 Question Id : 9139434089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Al2Al [QeudlA sedsreed dul
A s oy’ et oinll goirt el A S1EIA suis orcll 28 8.
(R) ol yddiril widdlgen il ens dsld 2uddl sddi el el 2u4ed
U B,
Options:

(A) 2 (R) Y HRL 9.
91394316069,

(A) 2 (R) 4 Wizl 8.
Q139421607 0.

(A) HERL B 2 (R) W2 5.
Q1294212071 % E

(&) v 8 2 (R) U .
91394316072,

Question Number : 118 Question Id : 9139434089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Al2Al [eurl seisrRHEE daul
A s oy’ etteliel oinll goirt el dn S1EIA suis ovcll 28 6.

(R) el ydeirtl ViRallgrtnd el elensel asldl wuddl sddl sidld Saeididl e
CTORSN
Options:

(A) 2 (R) Y Wl 8.
91394316069,

(A) 2 (R) 4 Wizl 8.
91294216070,

(A) HRL B 2 (R) W2 5.
Q139421071 % "é



(A) Wi 8 2 (R) | 5.
91394316072, % 3

Question Number : 119 Question Id : 9139434090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ALl Beudld sedsrered dwrl
A giend lass YoerBs’ sEad Gy ol gd
(R) 2eifoiezRiscuell Gy sl deid a6,

Options:
(A) 24 (R) S AUl 8.
91394216073,

(A) 2 (R) g Wizl 8.
Q1294216074

(A) HERL B 2 (R) W2 5.
91394316075, 3 g

(A) Vi 8 2 (R) W™ 5.
Q1294216076 ‘]é %

Question Number : 119 Question Id : 9139434090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A2l [FeudlA selsireriedl ayrdl
A 21008 lads YiroiezBs’ s Gou 2l ¢dl.
(R) 2ol Griy s i am .

Options:

(A) 2 (R) M |l 6.
Q129421607 2,

(A) 2 (R) 4 Wizl 8.
Q1294216074.

(A) MR B 2 (R) W2 5.
91394216075, 3 g

(A) WiZ2 8 2 (R) W™ 5.
91394216078, g 3

Question Number : 120 Question Id : 9139434091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A2l el srisremeE duml -
(A) AlElas Hallan Fdia dsuls wgld=l ud s el

(R iy 21 [Esun Bt B Bl vzd 8.
Options:

(A) 2 (R) M |l 6.
91394316077,

(A) 2 (R) 4 Wizl 8.
Q129421607 8.

(A) MR B 2 (R) W2 5.
91394216079, 3 g

(A) WiZ2 8 2 (R) W™ 5.
A1Z394=21c020. \'é %

Question Number : 120 Question Id : 9139434091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A2l el srisremeE duml -
(A) AlElas Hallan Fdia dsuls wgld=l ud s el

(R iy 21 [Esun Bt B Bl vzd 8.
Options:

(A) 2l (R) i |l 8§,
91394216077,

(A) 2 (R) 4 Wizl 8.
Q129421607 8.

(A) M B 2 (R) W2 8.
91394316079, 3 g

(A) WiIZ 8 2 (R) HR™| 5.
A1Z394=21c020. \'é %

Question Number : 121 Question Id : 9139434092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ALl BeuiA selsrericidl durdl -
(A) NEE Ml gell Hrl svel il WAl Bell el @il 8.

(B uRle Ay gecadl [Eousnn 2lsizd A2l

Options:



(A) 2l (R) M ML 8.
91394316081,

(A) 2 (R) oid Wizl 8.
Q139421082

(A) MR B 24 (R) Mg 8.
91394316083,

(&) v 8 2 (R) U .
91394316084

Question Number : 121 Question Id : 9139434092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Al2Al [eurl seisrRHEE daul
(&) NEE Ml gell Hwil oel el el Bell ovell sl 8.
(B uRE Ml gatcarl [ousid 2wflsirg 6l

Options:

(A) 2 (R) M |l 6.
91394316081,

(A) 2 (R) 4 Wizl 8.
Q1294216 082,

(A) MR B 2 (R) W2 5.
91394216083, 3 g

(A) WiZ2 8 2 (R) W™ 5.
Q139421024 ‘]é %

Question Number : 122 Question Id : 9139434093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ALzl B selsroiried duidl

(A) A3 el vl dlst Hug sad sy A s3l

(R) WA SUE9L $2S1RL o wivadilld] diszoyaiid $30 Usdl ol
Options:
s1m045160ms @ 2l (R) Gz MU S,

(A) 2 (R) g Wizl 8.
Q1294216088



(A) MR B 24 (R) Mg 8.
91394316087

(&) i 8 2 (R) U .
91394316088

Question Number : 122 Question Id : 9139434093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ALzl Ben-dir selsreired dusdl
(A) 153 el vl dlst {8 sad 2oy A s3l
(R) A, el ssRL o vl diseyiid s30 Asdl ol

Options:

(A) 2 (R) Y Wl 8.
91394316085,

(A) 2 (R) 4 Wizl 8.
913294216086,

(A) HRL B 2 (R) W2 5.
Q139421 c087. % ‘]%

(A) WiZ2 8 2 (R) W™ 5.
Q139421 008E. ‘]é %

Question Number : 123 Question Id : 9139434094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ALl Qe seisreield duel

(A) daricns Al 5la-ll Gausud AR szl 208 8.

(R) stougla-l Simc s8] sacqAL 20000 WESL qaricns Alcd wal 5.
Options:
o129a5160ms A 2l (R) el Al 6.

(A) 2 (R) gl Wizl 8.
Q1294216090

(A) MR B 2 (R) W2 5.
91394216091, 3 g

(A) WiZ 8§ 24 (R) HE 5.
91394316092, 4 3



Question Number : 123 Question Id : 9139434094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ALl Beudid sisrericidl durd -
(A) garticns el gla-ll Grausud AR szl 2ud 8.
(R) sougla-l Sime sl s2cU-AL 20000 WESL qarticns Hled Wil 8,

Options:

(A) 2 (R) Y Wl 8.
91394316089,

(A) 2 (R) 4 Wizl 8.
G1294218090,

(A) HRL B 2 (R) W2 5.
A1=394=21c091 . % ‘]%

(A) WiZ2 8 2 (R) W™ 5.
Q1394212092 ‘]é %

Question Number : 124 Question Id : 9139434095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ALl BeuiA sedsrericdl durdl -

A) “dagd” wrbls 2ug[syprl viel s 20,

(B) Guizis? aiell-l wticrAcriAl 21 208RAsAAL A WSl AL
Options:
o1304516005 A el (R) A MRS,

(A) 2 (R) g Wizl 8.
A1=294216094,

(A) MR B 2 (R) Mg 8.
91394316095,

(&) i 8 2 (R) U .
91394316036,

Question Number : 124 Question Id : 9139434095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ALl BendiA siedsrericidl durdl
(A) “iagd” ulls 2ug syl oifl sl 21,
(B) Guizis? sialll ticRAariAl 214 2u8AsAL AN wsell Agldl



Options:

(A) 2l (R) Y ML 8.
913943160953,

(A) 2 (R) g Wizl 8.
Q1294216094

(A) MR 8 2 (R) W2 8.
91394316095,

(A) VWi 8 2 (R) W™ 5.
913942160986, g 3

Question Number : 125 Question Id : 9139434096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A2l Qe selsroeE aurl
(A) aoraid] Milged whug Wk Avridl Mlecy slarl laasll wgld 2u-usami 2udl .
(B gldaell ugld gri [alel udl 512 9 34 €4 8.

Options:

(A) 2 (R) Y Wl 8.
91394316097,

(A) 2 (R) 4 Wizl 8.
912942160498,

(A) HRL B 2 (R) W2 5.
Q13942120949 % "é

(A) WiIZ2 8 2 (R) | 5.
91394316100, g 3

Question Number : 125 Question Id : 9139434096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ALzl B selsreried duid
(A) oruedl AUet wBRME Ak vl Ml sl sldasll wgld 2l 2udl 8.
(R gldaell wgld gizi [Halel adl slal qaiR g4 €1 .

Options:

s1m04516007 @ 2l (R) Gz MU S,

(A) 2 (R) g Wizl 8.
A1Z294216098,



(A) MR B 24 (R) Mg 8.
91394316099,

(A) VI 8 24 (R) HR™ 5.
91394216100. % 3

Sub-Section Number: 5
Sub-Section Id: 913943203
Question Shuffling Allowed : Yes

Question Number : 126 Question Id : 9139434097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el gLl [Boicdl Mviell MR sdssl oLl -

1 I

() yeuicuiAl Glsigll ol »uey W Gaais?
/il 2UY B

(b) cfsa w2l ot (el () sy 2

(@ & irtefl WA 26 ol ug) (i) il

(A o 3 1 MR Frute 32q ok 7 (V) gy

Options:

(a)—iv), (b)—(ii), (e)—(iii), (d)—(i)
91234516101,

(a)—(iii), (b)—(iv), (e)~(i), (d)—(ii)
91334216102,

(a)—ii), (b)—(iii), (e)-{iv), (d)—~1)
91394316105,

(a)—(iii), (b)—(1), (e)-liv), (d)—(ii)
91294216104,

Question Number : 126 Question Id : 9139434097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el gLl [Boicdl Mviell MR sdssl oLl -

I i

(a) yeuicuiAl Glsigll ol »uey M Guais
spell 2U8 B

(b) eyfsct wéld i [l (i) 3efwg LS

(@ & irtefl WA 26 dl ug) (i) gl

(@ oud 31 2R Fuie Seg ok 7 (V) gry



Options:

(a)—iv), (b)—(ii), (e)—(iii), (d)—(1)
91334516101,

(a)—(ii1), (b)—(iv), (e)—=(1), (d)—(11)
9133451610%.

(a)—ii), (b)), (e)~liv), (d)—(1)
91334516103,

(a)—(ii1), (b)—(i), (e)—iv), (d)—(ii)
91394216104

Question Number : 127 Question Id : 9139434098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el 1AL [Eoncdl uvell Ml sdssi vl

| i
(a R i ey
(b) ey (i) 3wy
(e} 2y (1ii) 3
(d) Haflq (iv) gl
Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)—iv)
913943161065,

(a)(iv), (b)—(ii), (e)—(i), (d)—iii)
91394316106,

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
91394316107,

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394316108,

Question Number : 127 Question Id : 9139434098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol gL [Eoicl uvuell MRl sdssl Al -

I 1
(a) RA (CUES (R
(b) ey (i 3wy
(e) 12 (i) YR
(dy 3ol (iv) g1

Options:



(a)-ii), (b)-1), (e)-Liii), (d)-iv)
91394316105,

(a)—iv), (b)), (e)—i), (d)—{1ii)
91394316106,

(a)ii), (b)-iv), (e)-1), (d)1ii)
91234516107,

(a)—(iii), (b)—(i), (e)—(iv), (d)—(ii)
91394316108,

Question Number : 128 Question Id : 9139434099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol WELHL [Eoidl uvuell MRl sdssl -l -

1 I
(a) Mgoud i oM
b gwl (i) g€l
(e) Huz-l (i) 2yigeeld
(d) ylayes (iv) én,&
Options:

(a)—(1), (b)—(ii), (e)—{iii), (d)—{iv)
91394316109

(a)—(iv), (b)—(iii), (e)—(iD), (d)—(i)
91394216110,

(a)—(ii), (b)—(1), (e)—iiv), (d)—iiii)
91394216111,

(a)—(iii), (b)—(iv), (e)~(D), (d)—(ii)
913943216112

Question Number : 128 Question 1d : 9139434099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ol gl [Eoidl Mviel MRl sdssl el -

I II

(a) Hsoye (1) e
(b gwel (i) €4l

(¢) ezl (i) weigereln
@ ylau-g (iv) s

Options:



(a)-1), (b)-11), (e)-iii), (d)-iv)
91394316109,

(a)—(iv), (b)—(ii), (e)—(1), (d)—(1)
91234516110,

(a)—ii), (b)—(1), (e)—(iv), (d)—(iii)
91234516111,

(a)—(iii), (b)—(iv), (e)—=(1), (d)—(ii)
9133431611%.

Question Number : 129 Question Id : 9139434100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol WELHL [Eoidl uvuell MRl sdssl -l -

1 1
(a) [Greyfsa 0 sEzled
(b) ylusdl i) £3)

(@ qEA (i) ooy
(d) opelds (iv)  2|[due

Options:

(a)—(id), (b)=(1), (e)—ii), (d)~(iv)

91394316113

(a)—(il), (b)—(iv), (e)—(), (d)—iii)

91394316114

(a)—(id), (b)~(ii), (e)—(iv), (d)—(i)
91394316115

(a)—(iv), (b)—(1), (e)—(iD), (d)—(iii)
91394316116,

Question Number : 129 Question Id : 9139434100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol WELHL [Eoidl uvuell MRl sdssl -l -

1 i
(a) wfGreulsa D {Rkeled
(b) ylysadl (i) g2

(@ qEA (i) ooy
(d) opelds (iv)  2|[due

Options:



(a)-ii), (b)-1), (e)-Liii), (d)-iv)
91394316115,

(a)ii), (b)—iv), (e)—i), (d)—1ii)
91394316114

(a)—iii), (b)—(ii), (e)—iv), (d)—(1)
91234516115,

(a)—(iv), (b)—(i), (e)—(ii), (d)—(iii)
91394316116,

Question Number : 130 Question Id : 9139434101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol WELHL [Eoidl uvuell MRl sdssl -l -

1 1
(a) gulgl M ofgdl
(b) WvaR (i) oflsl
(@ [dl-lael (i) 53w
(@ oyrelld 1l (iv)  Aleuell
Options:

(a)—(iii), (b)—(ii), (e)~(iv), (d)—(i)
91394316117

(a)—(id), (b)—(1), (e)—(iii), (d)—(iv)
41394316118

(a)—(iv), (b)), (e)—(i), (d)—(ii)
41394316119,

(a)—(iii), (b)—(iv), (e)(ii), (d)—(D)
91394316120.

Question Number : 130 Question Id : 9139434101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el gLl [Boicdl Mviell MR sdssl oLl -

I I
(a) gllEs] M ofgdl
(b) Wi (i) o8l
(¢ [RirAl-ldeiel (i) 53w,
(@ efrdl 240 (iv)  Hicudl

Options:

(a)—iii), (h)—(ii), (el~liv), (d)—(1)
91334516117,



(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91234216118,

(a)iv), (b)—(iii), (e)-i), (d)—(ii)
91394316119,

(a)—(iii), (b)—(iv), (e)(ii), (d)—i)
91234516120,

Question Number : 131 Question Id : 9139434102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el WELHL [Boarcl uvuel MR sdssl el -

I 1|
(a) [Repde 513161 @ spll
(b) d32 A (i) WU
(0 ={2dl (i) Iyfu (s AN
(@ gl >idw (iv) IRl
Options:
(a)—(i), (b)—(id), (e)—ii), (d)—(iv)
91394316121,
(a)—(iv), (b)—(), (e)—(ii), (d)—iii)
91394316122,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
Q1394216123
(a)—(ii), (bi—(iv), (e)—(i), (d)—(ii)
91394316124,

Question Number : 131 Question Id : 9139434102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ol gL [Eoicl uvuell MRl sdssl Al -

I Il

(a) [eud gl M spil

(b 932 Ars (i) Adun
(CEND] (i) Sy 25 An
(@ gd-l 2lde (iv)  w3lzdl2A)
Options:

(a)—i), (b)—(ii), (e)-(iii), (d)—iv)
91234516121,



(a)—(iv), (b)—(i), (e)—(ii), (d)—(ii1)
91394316122,

(a)—(iv), (b)—(ii), (e)—(1), (d)—(1)
91334516123,

(a)iii), (b)—(iv), (e)1), (d)ii)
91234516124,

Question Number : 132 Question Id : 9139434103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el WELHL [Boarcl uvuel MR sdssl el -

1 i
(a) AYeUE 1 RS
(b) 2 UfEHellollE (i) IEL
(€ ~AsHEsIE (i) allRL
(d) rRdselE (iv)  gotr YRR W
Options:

(a)—(iii), (b)—(iv), (e)—(ii), (d)—(i)
91394316125,

(a)—(ii), (b)—(1), (e)—(iv), (d)~(ii)
91394316126,

(a)~(iv), (b)—(iii), (e)—(1), (d)~(ii)
Q1=294216127.

(a)—(id), (b)—(1), (e)—(iii), (d)~(iv)
91394316128,

Question Number : 132 Question 1d : 9139434103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ol gL [Eoicl uvuell MRl sdssl Al -

I I
(a) ApeE (1) |35
(b) Bk HclelE (i) aliglr
(€ ASUUIE (i) ozl
(d) qRdeasls (iv) godz YURR W
Options:

(a)iii), (b)—(iv), (e)ii), (d)—(i)
91234516125,



(a)—(ii1), (b)—(i), (e)—{iv), (d)—(i1)
91394316126,

(a)—(iv), (b)—(ii), (e)—1), (d)—(11)
91334516127,

(a)—ii), (b)—(1), (e)—(iii), (d)—(iv)
91234516125,

Question Number : 133 Question Id : 9139434104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el WELHL [Boarcl uvuel MR sdssl el -

I II

(a) 2o, D erful
(b) oigni 28y (i) yeilary
(©) ot Gelall (i) e[

(d) Byl siel (iv) 3SR
Options:

(a)—ii), (b)—(iv), (e)—(iii), (d)—(1)
91334316129,

(a)—(1), (b)—(iii), (e)—(ii), (d)—(iv)
91394316130,

(a)ii), (b)-1), (e)Liv), (d)—1ii)
91394216131,

(a)iv), (b)(ii), (e)-(i), (d)iii)
91394316132,

Question Number : 133 Question Id : 9139434104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol WELHL [Boidl Mvuell MRl sdssl il -

1 I
(a)  =a[doru- D gyal
(b) ::;:,;-1'[ gy (i) ’Jc\':i[ElI."-{
(@ wigf Gefall (i) eqyd
(d Fafa-l siel (V) HgpReA
Options:

(a)—(ii), (b)—iv), (e)—(ii), (d)—(1)
91334516129,



(a)—(i), (b)—iii), (e)—(ii), (d)—(iv)
91394316130,

(a)-11), (b)-1), (e)Liv), (d)—1ii)
91394316131,

(a)iv), (b)—(ii), (e)—(1), (d)—(iii)
91234516132,

Question Number : 134 Question Id : 9139434105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el WELHL [Boarcl uvuel MR sdssl el -

I II
(a) deud D GHais?
(b) yugsQl () (e wss
(0 e (i) 3[R
(d) Huxeen (iv) A9
Options:

(a)—(iv), (b)—(ii), (e)—(1), (d)—(1)
91334516133,

(a)ii), (b)-1), (e)Liv), (d)-1ii)
91394316134

(a)-iii), (h)—(ii), (e)i), (d)iv)
91394316135,

(a)—(iv), (b)—(i), (e)—(ii), (d)—(11)
91334516136,

Question Number : 134 Question 1d : 9139434105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ol gL [Eoidl Mvuell MRl sdssl Al -

I II
(a) diewd 0 Gwwisz
(b) Yzl (i) zL[E wes
(0 Hlan (i) 7[R
(d) Hyde (iv)  AdERU™

Options:

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(1)
91394316133,

(a)-ii), (b)-1), (e)iv), (d)-1ii)
91394316134



(a)—iii), (b)~(id), (e)—(i), (d)—iv)
91334216135,

(a)iv), (b)—(1), (e)-{iid), (d)—(ii)
91394316136,

Question Number : 135 Question 1d : 9139434106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

oigl gl [Eotdl Al AL sdssl vl -

I I
(a) aaleA ol D gloeds, opaell
(b)  3lEL 2iel 2eyEMIY (i) %50 2l

(€ ool 2404 HUSHHL Aoraudt (i) YA W

(d s 2zl [ (iv)  ofellend HRHU
Options:
91394316157 (a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)

(a)—iii), (b)—~(iD), (e)—(i), (d)—liv)
91334216138,

(a)-(i), (b)—(iv), (e)-{ii), (d)—(iii)
912342161329,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91594216140,

Question Number : 135 Question Id : 9139434106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol Wl [Eoatdl Hviel Al sAssl vl -

1 I
(a) aaleA ol D glaeds opaell
(b)  3LlEL 2iel 2eyEHIY (i) %50 sl

(€ opel 2R UUSHHL Aol (D) Y W

(d Elas e [ (iv)  ofelleid HZH
Options:
o1mousigisy (@), B, @O, -0

(a)—iii), (b)~(id), (e)—(i), (d)—iv)
912342161328,



(a)—(i), (b)—iv), (e)—(ii), (d)—(ii1)
91394316133,

(a)-11), (b)-1), (e)Liv), (d)—1ii)
91394316140

Question Number : 136 Question 1d : 9139434107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ol gl [Eoidl Mviel MRl sdssl el -

I I

@ UREAE U

(b) ot Rlctieue (i) 2rgsid ol
(©) Wdlses (i) slleel13
(d) =y [icyels (iv) Blusia wBrR
Options:

(a)ii), (b)-iv), (e)iii), (d)—(i)
91234516141,

(a)—1), (b)—(il), (e)-(iii), (d)—iv)
91394316142,

(a)—(ii1), (b)—(i), (e)—iv), (d)—(11)
91394316145,

(a)-iii), (h)—ii), (e)-i), (d)-iv)
91394316144

Question Number : 136 Question Id : 9139434107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el gLl [Boicdl Mviell MR sdssl oLl -

1 II
(@ uREAE SUNIR
() FaglElacue (i) 2yrgsid ol
(©) Wdlsels (i) sligel1m
(d) wEcddlE (iv)  Blusid w@due
Options:

(a)ii), (b)—iv), (e)(iii), (d)—(1)
913343165141,

(a)-1), (b)-11), (e)-iii), (d)-iv)
91394316142,



(a)—(ii1), (b)—(i), (e)—{iv), (d)—(i1)
913943161453,

(a)—iii), (h)—(i1), (e)-i), (d)-iv)
91394316144

Question Number : 137 Question 1d : 9139434108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ol gl [Eoidl Mviel MRl sdssl el -

I i
(a) AYesL (1) 2y
(b) 51 elicll (i) yRsl eroul
(e) 2% (i) 3w
@ [eia (V) =g =g o
Options:

(a)—(id), (b)—(1), (e)=(iii), (d)—~(iv)
41394316145,

(a)—(iD), (b)—(iv), (e)—(D), (d)—(iii)
41394316146,

(a)—(iii), (b)—(iD), (e)—(iv), (d)—(D)
91394316147

(a)—(iv), (b)—(iil), (e)—(ii), (d)—(i)
41394316148,

Question Number : 137 Question Id : 9139434108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol WELHL [Boidl Mvuell MRl sdssl il -

1 I
(a) woiEsL (1) e
(b) 25\ el (i) YRrsl syeyl
(€ <24 (i) 3yl
(d [Aeig (V) =g« o

Options:

(a)ii), (b)-1), (e)Liii), (d)-iv)
91394316145,

(a)ii), (b)-iv), (e)-1), (d)1ii)
91234516146,



(a)—iil), (b)~id), (e)—(iv), (d)~1)
91394316147,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394316148,

Question Number : 138 Question 1d : 9139434109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ol gl [Eoidl Mviel MRl sdssl el -

I I

(a) oflull 3 oreusRl ghAd dusd - D sy
Al 3.

(b) YRdG wuld 23Ry, Ry @D el
SE LI CETE]

(€ WAYEL 5§ WAT el (i) g
v 3...

(d) g 90 Wl A oad... (iv) 2qLvaye

Options:

(a)—(iii), (b)—(1), (e)—iv), (d)—(ii)
913324216149,

(a)(iii), (b)—(iv), (e)(il), (d)—(1)
91394316150,

(a)—ii), (b)—(iii), (e)—(i), (d)—iv)
91234216151,

(a)—iv), (b)—(ii), (e)—(iii), (d)—(i)
H91334516152.

Question Number : 138 Question Id : 9139434109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol WELHL [t Mvuel MRl sdssl il -

I I

(a) ool 3 ezeusel gl dausdl D 519y
dl %...

(b) YRaG Hld 2Ry, Ry (i) arefl
SR GICICTE]

(©  UAYEL 5§ U Hdell (i) g
qaw ...

(@ e 1 UMY A oa... (iv) 2oy

Options:



(a)—(iii), (b)—(1), (e)—{iv), (d)—(ii)
91234216149,

(a)(iii), (b)—(iv), (e)(ii), (d)—(1)
91234216150,

(a)—(ii), (b)—(iii), (e)—(i), (d)—liv)
91234516151,

(a)—iv), (b)—(id), (e)—(iil), (d)~(1)
91334216152,

Question Number : 139 Question Id : 9139434110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol WELHL [Eoidl uvuell MRl sdssl -l -

1 I1
(a) [sy3) euell D orudaal
(b) e cplieu] lel wWiks (i) glerd
(© aAslaanl (i) sl
(@ dedasidl glell 3w, gglau-dl v disolla
A Y
Options:

(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
91234216153,

(a)(iv), (b)—(1), (e)-{iid), (d)—(ii)
91394316154

(a)—iii), (b)~(id), (e)—liv), (d)~(D)
91334216155,

(a)(iii), (b)—(iv), (e)-(i), (d)—(ii)
91394316156,

Question Number : 139 Question 1d : 9139434110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ol gL [Eorel uvuell MRl sdssl Al -

1 if

(a) [sp3) euell D orudaal

(b) e optlieu] el wWks (i) g1erd

(e) ;,5,5@451@[ (i) elseidl

(@ dadasidl eloll wel, gl v disalla
A Y

Options:



(a)—ii), (b)—(iii), (e}—(i), (d)—iv)
91334216153,

(a)iv), (b)—(1), (e)-{iid), (d)—(ii)
91394316154

(a)—(iii), (b)—(ii), (e)~iv), (d)—(i)
912334516155,

(a)—(iii), (b)—(iv), (e)~(i), (d)—(ii)
91334216156,

Question Number : 140 Question Id : 9139434111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol WELHL [Eoidl uvuell MRl sdssl -l -

1 11
(a) [Ealex D 3Fud et
(b) 59, M2l (i) esled Fdel
(@ Garel S (i) o2

(A disHilécy 3eEslal (iv) geyqdaL
Options:
(@a)—(iii), (b)—(i), (e)(ii), (d)—(iv)
91394216157,

(a)-ii), (b)—(iv), (e)-(iil), (d)—~(1)
91594216158,

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
91334216159,

(a)—(1), (b)(iii), (e)—{iv), (d)—(ii)
91234216160,

Question Number : 140 Question Id : 9139434111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ol gL [Eorel uvuell MRl sdssl Al -

1 1|

(a) Bz M 3[ud et
(b)  &%e| Mrci2lddl (i) egled Fdgl
(€ Ga2qReL 5l (i) 3sye

(A disMildcd UsESIL (iv)  EeddRIH

Options:



(a)—(iii), (b)—(1), (e)-{ii), (d)~(iv)
91334216157,

(a)—ii), (b)—(iv), (e)-iil), (d)—~1)
91234216158,

(a)—(iii), (b)—(iv), (e)-(i), (d)—(ii)
91234516159,

(a)—(1), (b)—(iii), (c)—{iv), (d)—(ii)
91334216160,

Sub-Section Number: 6
Sub-Section 1d: 913943204
Question Shuffling Allowed : Yes

Question Id : 9139434112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

ateruigedl AAlZiAL 3l Wod Gl Ml

eet[rlsteul izl 8L 2 2 viell o 8, sl o Yoo v 8. 58 o oy
sl sl 928 B il 2ACreuls e o 2 0glAL el Gudlol 53 8. 21l visie
Rt A<L uu Riatuidvaid 214 2100ld el [rel 48 s 8. steul cdov-i-Al wal
Quy 8 oudt. sienqRalladul ¢fgd adel eusiqeyldn e s 8. sieudl »ilds Ga
2lAE B, W O, HddlE Al 2 s cldHy B, udl AUl sl dl sieuad
ol AsQHIA] etzis weL 2 eust ol 24 2l 2 euspdniall Fvum adl, eus-
us RN, weL vl WEAsews oud A2l 2dd el -3y [Aldsey 2uds 8. 24 wuHe,
1AL 2L ARAIE, UAS[AB O 2 ofud A sddl. 24l MRAE Qs 2L e s 5§
AL Gyl 53 6 2l adg, d syl Baue-l Wl B 8. sE-Al 20 ueel
yera3ue, wedldend, wes-dl Aucgldd, seudid 2 2elncglad, olgads Qaurrienr
2 epeell@eld, Gl 2UEsaR e 2w B,

Sub questions

Question Number : 141 Question Id : 9139434113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
stea] (Gl HEw 3l 6 2
Options:

2 Made
91394316161,

215942168162,



alretysd

91234516163,

WG

91334516164,

Question Number : 142 Question 1d : 9139434114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

sleril eeteqi®] Slel dEl 8 2

Options:

91394316165, Rl

91394316166, R

o1394316167, NS
0139431616, U

Question Number : 143 Question Id : 9139434115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SIEARAE-L HAIUR 54l 6 2

Options:
Q1=294315169, Bt
US'S
Q91594216170
K|
91294216171, o
Q1294316172 "-{[3(1.

Question Number : 144 Question Id : 9139434116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

sleaiel]l (vt ucl wiie 23u 39 6 2

Options:



H91334516173. sl

ufdsey

91234516174,

us12Eaing, oA sl
91394316175,

H133451617E, B

Question Number : 145 Question Id : 9139434117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

sleqaazud yHerell Ul o3z © 2
Options:

cretsiiAAl saelsiEl-Hl
91394316177,

slAeAl WU WAl sl
Q13942161 78.

(A2 A s qagHl

912334516173,

91394316180, UCESLAL 202l

Question Id : 9139434112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension

atgruisell AAlzirL 3L Wi GraRl 24l

eot[rsicul il el 2 2 oiell s 8, el o Yo o B, s[d o et
st 539l 628 © Al wlCealse we o 2 AsEIAL ARAiHAL Gyl 51 8. ] Hisie
Rt A<l, ua Rituivaid 2 2UE0ld el [orel U8 sad 8. sieudl cdov-iedl vl
By 8 oudt. sieyRallal offigd adel eustiroeylds e e 8. sicul »ildd Ga
E B, W O, HdAGE AL 3 e eusHy B, 2 sl sl dl sieid
odletedl ugRrHiell iy WEL B ousHy vl A Bl 2 eusnuanial Fvug udl, el
UsR[EAANA w1 o7l lAseus ouq A2l 28 el -34 [Aldsey 2ude . 21 2,
Sl 2L 2ARAIE, AA5[AB 6 2 oyy A sdfl 24l sRaE Qs 2L e s 5§
AUlAL Gudiol 53 O 2l edq) d steurazudl Baurdl will B . sl 20 wepl
Yera3 s, vedldeud, wes-l Ancglad, seu-i v 2lacglad, ofgads Qaurour
2 epeelfRee, Gtz @SR Hera 220 B,



Sub questions

Question Number : 141 Question Id : 9139434113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

steu] w(Geneil HEw 3ol 6 7
Options:

2l Madd
91394316161,

actllls

91334516162,

allRetysd

91334516163,

URBLs

291594216164,

Question Number : 142 Question Id : 9139434114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

sleyel eee®] Sl QgL B 2

Options:

91394316165, Aldd
91394316186, RS
91394316167, NS
a1394316165, U

Question Number : 143 Question 1d : 9139434115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
slelRelEAL YR 4L 6 2

Options:

91334516169, HAs

R
B91334516170, s



Hllas

912334516171,

91334516172, il

Question Number : 144 Question 1d : 9139434116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

steidl]l [Avym ucl e @34 39 6 2

Options:
s1334316173 Al
91394216174, u[&an—u_

usUEL- eud susdl
91394316175,
91394316176, T ¢

Question Number : 145 Question 1d : 9139434117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
sleqezue Huoral Ul 32 © 2
Options:

creedsilr-Al sl Rl
91394316177,

5081 WU WAl seisRIHL
91394316178,

s(d2l 2ud s3al qagl
91394316179,

o1394316150,  UeESRIAL 2Rl

Sub-Section Number: 7
Sub-Section 1d: 913943205
Question Shuffling Allowed : Yes

Question Id : 9139434118 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (146 to 150)
Juestion Label - Comprehension

sietel {l2irl WAL ol 24l

B 4sy A, B YUl ovet, udl o el o o,
YUl $oR A el Al 2L SlaRl, View,

juil o 2l cundl aoll avll wusl, oflsy =1 uz
Q1S 21 3R e vl SRR, Bl UeL

581 21 s, W 2, F3 53] Gl

24l sy RIS iz el sizwll swil 3,

&Y Goiror 25czRiu s¢ dllaedl 23,

w1l gl gl e 2 izl 23

el W, sreli] 21010, A€l 240 sl el
WL Gureun sy ded, well gul e,
Rl A oyl @R werypd Al ad

AL 2ellr, Y3 udl €8 ¢ 2 WL v,
e iR odG o 53 531 Gl 3 irdl -

2 WKl gl 2 R g sl e edl

Sub questions

Question Number : 146 Question Id : 9139434119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Sledrlds e, Aol 2] 2 12 H18] ol waul 8 2
Options:

a1yl o
1594316181 2z 4208 ol 8 aall

R duLd o 6 dall
91394316182,

i J ™
91394316183, vl 2101 eddll 4 & el

gLl ol ofledl 2wl & el
91394316184,

Question Number : 147 Question 1d : 9139434120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

B3 S15cll sleurlds 59l B AN S ?

Options:

20 ¢ AUl -2l

91334516185,



il HRsIE sy 8§

91394316186,
2

o139a316157, P ML N
ollel st ay

91394316188,

Question Number : 148 Question Id : 9139434121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
el Agol suL WSy 22 el dsoddl 8 2
Options:

Rieryzial
91394316189,

slug euelEd
91394316190,

WAL
91234516191,

HELMIRA
2915334216192,

Question Number : 149 Question Id : 9139434122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

([ o] lsaAll 53l HdsR Wl © 2

Options:
91394216193, E!:ll[ﬁ‘-‘-l.lﬂ
s
91394216194,
Gedlau
91394216195,
91394216196, G

Question Number : 150 Question Id : 9139434123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘g7’ 20t sl e W 5 O 2

Options:

glel

913345161397,

Idsel
91394316198,

| Rl

91334516199

Ul
21594216200,

Question Id : 9139434118 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

g1l l2hAL WAL Gl 2l

o 45y e, L ysul o, adl o el o o,
Yol $oR A el darel 2L slaRl, view,

vl ¢ 2l ewad] aoll qoll wiesl, oflsy 2 ur
da 2 2k oH Al Slak, BlsY HeL.

561 21 s, W 20, F3 53 Gl

L et 1S 2 3l siewll siell A3,

&y s sz se dliell 23,

1€l gl Agl-l e 20 vl 23

el wa, sl 2010, A€l 2 s el
WL Gure sy dsd, wiell ol Ae-l,
iRl A oyl @13 cerypd Al e

AL 2l Y3l uddl €8 ¢ B WL v,
el iR 8AG A 53 531 Gl A el -

2 Wizl erew 2 R @iz sllawsdl o edl

Sub questions

Question Number : 146 Question Id : 9139434119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SIeAlS AL Setrtrll MU 2 W2 9161 2ol wsdl © 2
Options:

J L M Y
01594316181 2k 4208 ol © Al



R g o 8 el

91394316182,
i 5 ™ =
1304316153 AL P aidl ud & qul
Ll ol o{ledl ol & el
91394316184,

Question Number : 147 Question Id : 9139434120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B HlSel sleuAS 53l B UL S ?

Options:
& sau 2l el
91394316185.
. .
o1394316186 AL MRS ot B
2
a1394316187, O ALl us
Ul 2L B
91394316188,

Question Number : 148 Question Id : 9139434121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

seieiel Mol suL YRR 2 el AsnEdl 8 2
Options:

Rleryziol
91394316189,

(Mg epored
91334316190,

ML
91234516191,

HELMI1A
H913345161392.

Question Number : 149 Question Id : 9139434122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[ o] dlEaAll 53l SR Wlsadl © 2

Options:
91394216193, E!:ll[?t‘-‘-l.ld
3us
91394216194,
Gedlau
91394216195,
91394216196, @'L{'-‘-ll.

Question Number : 150 Question Id : 9139434123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘g7’ 2ok sl e W 53 O 2

Options:

$lel

913345161597

3581
A1=394=216198,

| Errl

21594216199

Ul
91334516200,



